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UGC NET PAPER 2 MARCH 2, 2022 SHIFT 1 SOCIAL WORK QUESTION PAPER

Topic:- SocWok_5H2_seti1_A

1) The definition of global social work (2014) states that ‘Social work is a practice based
profession and an academic discipline that promote social change and development, ...... and
the empowerment and liberation of the people’.

(1) Social Justice (2) Human Right

(3) Social Cohesion (4) Social understanding
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[Question ID = 2626][Question Description = Q01_SocWork_SHAAN_0521_52_Shift1]
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. 1 [Option ID = 10501]
. 2 [Option ID = 10502]
. 3 [Option ID = 10503]
. 4 [Option ID = 10504]

Who questioned the status of soclal work as a profession in Baltimore Conference of
Charities and Corrections held 1in 1915?

(1) Mary Richmond (2) Abraham Flexner
(3) Ernest Greenwood (40 S K Khinduka
1915 d g aedmiR Hiaeg ATF =ifew ws wewa 1 ga s i sEmbe ol w e
T I U Y
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Question ID = 2627][Question Description = Q02_SocWork_SHAAN_0521_52_Shift1]

1 [Option ID = 10505]
2 [Option ID = 10506]
3 [Option ID = 10507]
4 [Option ID = 10508]

“Want. Disease, Ignorance, Squlor and Idleness” were the five giants to be tackeled by a
massive programme of social legislation. It was proposed by

(1) HH. Pearlman (2 William Beveridge
(3) Clarke William (4 Hughman
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[Question ID = 2628][Question Description = Q03_SocWork_SHAAN_0521_52_Shift1]
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1 [Option ID = 10509]
2 [Option ID = 10510]
3 [Optien ID = 10511]
4 [Option ID = 10512]

) “An effort aimed at initiating suitable changes and reforms to improve socio-economic
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conditions and to better social chimate” is termed as
(1) Social Reform (2) Social Action

(3) Community Organisation (4) Community Development
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[Question ID = 2629][Question Description = Q04_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10513]
2. 2 [Option ID = 10514]
3. 3 [Option ID = 10515]
4. 4 [Option ID = 10516]

5) Differential Association Theory (1959) is given by

(1) Emile Durkheim (2) Max Weber
(3) Mac Iver (4) Sutherland

feviaw argad fagra (1959) g g wlaurida &2

(1) s gEm (2) TG T
(3) HF IR (4) T

[Question ID = 2630][Question Description = Q05_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10517]
2. 2 [Option ID = 10518]
3. 3 [Option ID = 10519]
4. 4 [Option ID = 10520]

% The concept of ‘T and ‘Me’ with reference to development of ‘self’ was used by

(1) S. Freud (2) C.H. Cooley
(3) H.M. Johnson (4) G.H. Mead

T Fr % we § ‘and o A B s e g 3 o v o7

(1) T FEs @) . = T

(3) I, U, JEA (4) =, wm, diE

[Question ID = 2631][Question Description = Q06_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10521]
2. 2 [Option ID = 10522]
3. 3 [Option ID = 10523]
4. 4 [Option ID = 10524

7) A process of social influence in which a person can enlist the aid and support of others in the

accomplishment of a common task 1s called as

(1) Power (2) Authority
(3)  Leadership (4) Status
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[Question ID = 2632][Question Description = Q07_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10525]
2. 2 [Option ID = 10526]
3. 3 [Option ID = 10527]
4. 4 [Opticn ID = 10528]

8)  Which among the following is not a component of attitude?

(1) Affective component (2) Behavioural component
(3) Cognitive component (4) Perception component
freafeifias 4 @ =i sifighe =1 gew 8 37
(1)  9EeHS 2% (2) AEEIE T2F
(8)  HYFIHT UeF (4) IEAE UTF

[Question ID = 2633][Question Description = Q08_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10529]
2. 2 [Option ID = 10530]
3. 3 [Option ID = 10531]
4. 4 [Option ID = 10532]

N A system of behaviour and psychological processes occurring within a social group or

between social groups 1s often termed as
(1) Group cohesion (2) Group dynamics
(3) Group behaviour (4) Deecision making behaviour

et v gmfom wg % i @ s wmts aqgt % s sqaer otk T atwEaet it el
I T Fel S B

Q) =l ohea @) =mIfEw i
(3) UMEF TEER (4) Frm a9 gedt =EER

[Question ID = 2634][Question Description = Q09_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10533]
2. 2 [Option ID = 10534]
3. 3 [Option ID = 10535]
4. 4 [Option ID = 10536]

10)  Which amongst the following is not the principle of group work?

(1) Taking decisions quickly on behalf of the group for establishing acceptance
@) Planned organization of the group

(3) Providing new opportumties to the group
(4) Use of scientific action plan

At § ¥ FF Aie® FE w G Tal 57

(1) g #1 aF ¥ dFd ¥ UG T F % foe ol o
(2) TR W AGHEG T H WA
(3) YR W TU AW TGH HE
(4) I BE AT H T
[Question ID = 2635][Question Description = Q10_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10537]
| 2. 2 [Option ID = 10538]
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| 3. 3[Option ID = 10539
4. 4 [Option ID = 10540]

1) “Tool in Treatment is the phrase first used by :

(1) Perlman (2) Treckar
(3) Grace Marcus {(4) Grace Mathews

‘79§ Zene I B THEIT wed dgel e R a7

(1 W (2)
(3) W WrHH 4) IW A

[Question ID = 2636][Question Description = Q11_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10541]
2. 2 [Option ID = 10542]
3. 3 [Option ID = 10543]
4. 4 [Option ID = 10544]

12)  The following terms are frequently used to describe the rationale for home visits except

(1) Empowerment (2) Enablement
(3) Enhancement (4) Engagement
Frtataa 9§ 58 =3 @ s =W fateem’ = ofifaca = 9o 5 & (o T8 e s 27
(1) S (2) AR
(3) g (4) =R B
[Question ID = 2637][Question Description = Q12_5SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10545]
. 2 [Option ID = 10546]

1
2
3. 3 [Option ID = 10547
4. 4 [Option ID = 10548]

13) Prof. HY. Siddiqui. in 1997. worked out a set of principles based on the
existing evidence based indigenous community organisation practices in the Indian context.
1) Six (2) Seven
(3)  Eight (4) Nine

W, T, oy, fafigdl 9 1997 4 unda ded O digg wem aneife 9w gmeEifes @eAl % SIaERl %
TR W Fpae fagrat =1 wiaures e ?

1 3= (2) TE
(3) B (4 =t

[Question ID = 2638][Question Description = Q13_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10549]
2. 2 [Option ID = 10550]
3. 3 [Option ID = 10551]
4. 4 [Option ID = 10552]

14)  The first and foremost step in Community Organisation process is

(1) 1dentification and prioritization of needs
(2) adjustment of needs and resources
(3) mobilization of necessary resources

(4) Initlating social change

M T34 i § Hed TEen = 3 -

(1) STTATAFRATHT %] TeaH T 1% Sva mufirarss fuifia s
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[Question ID = 2639][Question Description = Q14_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]

13)  “Social action is mass betterment through propaganda and legislation”. This statement is
credited to
(1) Mary Richmond (2) Octavia Hill
(3) Murray.GG.Ross (4) Kenneth Pray

“gmierR GFE AR AR B % Aarers © SEEg W seadl 217 — 78w e 27
(1) of e (2) R 7
(8) gt {m (4 FAuW
[Question ID = 2640][Question Description = Q15_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10557]
. 2 [Option ID = 10558]

1
2

3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

16) Which of the following is not a model of Community Development proposed by H.Y. Siddiqui?

(1) Neighbourhood Development Model (2) System Change Model

(3) Social Action Model (4) Structural Change Model
Frfefaa 3 @ =97 a7 uiza wa. T3, g grr vt ameifaen fomrm o oiga 48 27

(1)  usi¥ fomm Al (2) =Eaeu ufieas dise

(3) e TR b (4) GEATS SiEad died

[Question ID = 2641][Question Description = Q16_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10561]
2. 2 [Option ID = 10562]
3. 3 [Optien ID = 10563]
4. 4 [Option ID = 10564]

17 - + F
) The principle that ‘the discontent must be widely shared’ means
(1) Spreading discontent (2) Propagating discontent
(3) Discontent ‘per se’ 1s good (4) Openness to community

* STOETY T SH 9 T HEN G o e | om fagre ol 2 -
()  THam e (2) ST F TIR A

(3) oA wa: oSl 2 (4) wEEE F W gerE

[Question ID = 2642][Question Description = Q17_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566]
3. 3 [Option ID = 10567]
4. 4 [Option ID = 10568]

18)  Which is the correct formula of relationship between mean, median and mode?

(1) Mode = 3 Median — 2 Mean (2) Median =3 Mode — 2 Mean

N AManm — 2 WMadian 9 AMAda AN Afadiawm — 12 Afada 99 Wlmnsm
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[Question ID = 2643][Question Description = Q18_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10569]
2. 2 [Optien ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

1 A . : A i
2l “Trmangulation’ 1s a method of assessing vahdity of one’s research by

(1) Collecting three generational data
(2) Analyzing three generational data

(3) Using different methods and theoretical analysis of different subject of study by one
or more researchers

(4) Mixing of different methods and theoretical analysis of same subject of study by one
or more researchers

‘Trertofrerrr’ Fefafiga 4 3 o gra Feet % segam $t duar =1 srbes w0 i fafr 27

(1) o difeat % srwst = w0 |

2 i difeEt % srerst @ fageaor ws |

(8) F T I sHmuEmais % faftum seEm fam 6t fafim e o gigite feemm =

ST ih |
(4 % 7 Al SEEuRERGle & Uk d ot 6 fafim e ot dgfes fazewer # fem
FF |

[Question ID = 2644][Question Description = Q19_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10573]
2. 2 [Option ID = 10574]
3. 3 [Option ID = 10575]
4. 4 [Option ID = 10576)

20)  Thematic and text analysis are used 1n
(1) Path analysis (2) Data analysis
(3) Form analysis (4) Content analysis

F27 3R 913 Tyerv 1 399 ey B S a7

(1) =i faemm ©) TS R
(3)  w=u favemm @ Fromecg Redmor

[Question ID = 2645][Question Description = Q20_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10577]
2. 2 [Option ID = 10578
3. 3 [Option ID = 10579]
4. 4 [Option ID = 10580]

21) Range is a measure of

(1) Central tendency (2) Dispersion
(3) Assoclation (4) Correlation

THR () Fems amm 27

(1) = mgia @) TrEna
(Y  TEEE (4 wEEEg
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[Question ID = 2646][Question Description = Q21_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10581]
2. 2 [Option ID = 10582]
3. 3 [Option ID = 10583]
4, 4 [Option ID = 10584]

22) Which is considered as the negative process 1n human resource functions?

(1) Recruitment (2) Selection
(3) Training (4) Transfer
fre=fafaa A o fem wrm genem Foal #i TERerE SR A ST 3
(1) Tt (2) ==
(3)  wimE (4) THHT
[Question ID = 2647][Question Description = Q22_SocWork_SHAAN_0521_52_Shift1]
1 [Option ID = 10585]
2 [Option ID = 10586

1.
2. ]
3. 3 [Option ID = 10587]
4. 4 [Option ID = 10588]

23)

(1) Prime Minister Children, Adult, Residents and Emigrant Support Fund

(2} People's Matching contribution for Aid, Rehabilitation and Emergeney Support
(3) Prime Minister's Citizen Assistance and Relief in Emergeney Situations Fund

(4) Personsal Monetary Contribution and Response to Effective Services
IS - 19 1 WEA % g gomEs 3 (dg Fad) B2 i v # 2 | 5 gu A 3-

(1)  wey e fegA, wsee, Wi s v guid w3

) iuem df wep wR ve, Rl s s |

(3) umgn e e sfasdy o3 fefie & idh e s

(4) TEAE HAZh FiiwuE U3 REnm 7 shiEea ahds

[Question ID = 2648][Question Description = Q23_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10589]
2. 2 [Option ID = 105%0]

3. 3 [Option ID = 10591]
4. 4 [Option ID = 10592]

24) Which Five Year Plan focused on ‘Growth with Social Justice and Equality™
(1)  Ninth Plan (@) Seventh Plan
(3)  Eighth Plan (4) Sixth Plan

+H |1 9= guiE FiSE wESE = SN qaEdr & 9y Tame W) oae dar 87

(1) == T (2) et FrsET
(3) e A 4 TS A

[Question ID = 2649][Question Description = Q24_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10593]
2. 2 [Optien ID = 10594]
3. 3 [Optien ID = 10595]
4. 4 [Option ID = 10596]

25) In which year Transgender Persons (Protection of Rights) Act was introduced?
(1) 2019 (2) 2017
)] 20018 4y 2000

To fight with COVID-19, Prime Minister has created a PMCARES fund. Its full name is

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

ZTHSFSt SAfad (SATeehi =1 wweaw) sififem e e e e ?

(1) 2019 (2) 2017

(3) 2018 (4) 2020
[Question ID = 2650][Question Description = Q25_5ocWork_SHAAN_0521_52_5Shift1]
1. 1 [Option ID = 105%7]
2. 2 [Option ID = 10598]

3, 3 [Option ID = 10599]
4. 4 [Option ID = 10600]

26) What does the acryonym ‘ASHA’ mean?

(1) Accredited Self Heal Activist

(2)  Accredited Social Health Activist

(3) Associated Social Health Attendant

(4) Authorized Subordinate Health Assistant

gfcaelf wez “amen’ w1 am I 27

(1) whiizds ves diw it
(2)  THIEIS W 2 TR
(3)  owiHies wive 2y e
(4)  FATTS TEANEAE Fe FEEe

[Question ID = 2651][Question Description = Q26_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10601]
2 [Option ID = 10602]
. 3 [Option ID = 10603]
4 [Option ID = 10604]

e it BRI

27) Which among the following was the special programme launched in 2013 to address the

major causes of mortality among women and children 1n India?

(1) Rastriva Bal Swasthya Karyakram (RBSK)
(2) Janam Shishu Suraksha Karyakram (JSSK)

(3) Reproductive, Maternal, Newborn, Child and Adolescent Health (RMNCH+A)
4 Rashtriva Kishor Swasthya Karvakran (RKSK)

afeeTlen IR S % Jog o % THE FO0 % THEE % @ 36 ° w1 @ e FweEn 2013 9 Ty
T

(1) A o @R FEE (SR s 0 )

(2) S T g e (ST T )

)  Twrsfiea, ged, =@, Tises WS Teielide 309 (IR o9 T I oE + T)

(4) TEE U ERT FEEE (IR F T F)

[Question ID = 2652][Question Description = Q27_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10605]
2. 2 [Option ID = 10606]
3. 3 [Option ID = 10607]
4, 4 [Option ID = 10608]

...... poverty brings about frequent and iIntense experiences of uncontrollability;
uncontrollability produces helplessness. which causes the depression, passivity, and
defeatism to often associated with poverty”. Who wrote this statement?

Q) Noal Harar (2) Faucoult
(3) Sehgman (4) Amartyasen

“rilft st B aR-an dw sgsE ol 2 s Raema soom #1d) 2, S cee, Bfesaa amn
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(3) e 4) AT

[Question ID = 2653][Question Description = Q28_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 1060%]
2. 2 [Option ID = 10610]
3. 3 [Option ID = 10611]
4. 4 [Option ID = 10612]

29)

Social Policy 1n India has been specifically enunciated in of the constitution.
1) Part II (2) Partl
(3) PartIll (4) PartIV

WK | WIS (i WU 4 vrE w9 ¥ Fiwiya F O 2

(H = () W E

3) W (4) WM =R

[Question ID = 2654][Question Description = Q29_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10613]
2. 2 [Option ID = 10614]
3. 3 [Option ID = 10615]
4. 4 [Option ID = 10616]

30)  National Institute of Social Defense is functioming under the Ministry of
(1) Defence (2) Social Justic and Empowerment
(3) Home Affairs (4) Health and Family Welfare

TOFE ST AT Ao e e e F | weEE 27

(1) 7 = (2) HESRS == S S Hae™
3 T T (4) TR UE UNER FEEA WA

[Question ID = 2655][Question Description = Q30_SocWork_SHAAN_0521_52_5hift1]
1. 1 [Option ID = 10617]
2. 2 [Option ID = 10618]
3. 3 [Option ID = 10619]
4. 4 [Option ID = 10620]

31)  Social capital is a set of that allows individuals to work together 1n a group to
effectively achieve a common purpose.

(1) shared resources (2) shared values
(3) shared experiences (4) shared network
[T Y F1 TF TITAA 7 T A H OAWE T OF A0 Iy W w6 fore wg |

TF T e wE i A Sl 2 |

(1) == g (2) @ geA
(3) W SEHa (4 T

[Question ID = 2656][Question Description = Q31_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10621]
2. 2 [Option ID = 10622]
3. 3 [Option ID = 10623]
4. 4 [Option ID = 10624)
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32)  How many disabilities are listed under RPWD Act, 20167

(1) 4 Q) 7
(3) 11 4 21

W 4. 359, 91,72, 2016 % st=ria fheft Fraaand gefteg i = £7

1 4 2y 7

(3) 11 4) 21
[Question ID = 2657][Question Description = Q32_SocWork_SHAAN_0521_52_5hift1]
1. 1 [Option ID = 10625]
2. 2 [Option ID = 10626]

3. 3 [Option ID = 10627]
4, 4 [Option ID = 10628]

33)  Find the odd term out with regard to training

(1) Job rotation (2) Apprenticeship
(3) Understudy (4) Job Specification

sitwer % gay # Frfoiaa |7 ® fm e w1 ghw

(1) i WA (2) wfsiea
(8)  HAZ I (4) e iR

[Question ID = 2658][Question Description = Q33_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10629]
2. 2 [Option ID = 10630]
3. 3 [Option ID = 10631]
4. 4 [Option ID = 10632]

34)  Find the odd term in the following.

(1) Strike (2) Lockout
(3) Picketing (4) Gherao
freaferfiaa 9 & g o= =t iy
(1) gsa« 2) dETEE
() @ @)

[Question ID = 2659][Question Description = Q34_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10633]
2 [Option ID = 10634]
3 [Option ID = 10635]
4 [Option ID = 10636]

P bl B —

35)  Which is the latest round of National Family Health Survey (NFHS) conducted by Mimstry

of Health and Family Welfare?

(1) NFHS-3 (2005-06) (2) NFHSH4 (2015-16)
(3) NFHS-5 (2019-20) (4) NFHS-6 (2020-21)

T Ua iER e WaTerd g1 Wi AEan TP ST Gaew ki 91 37

(1) TA. TF. TI. TH - 3 (2005 — 06) (2) TH. T, TA. W, — 4 (2015 — 16)
(3) . T vH. wH -5 (2019 — 20) (4) . TF. TI. T — 6 (2020 — 21)

[Question ID = 2660][Question Description = Q35_S5ocWork_SHAAN_0521_52_Shift1]
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. 1 [Option ID = 10637]

2 [Option ID = 10638]
3 [Option ID = 10639]
. 4 [Option ID = 10640]

oW

36)  An approach which involves meticulous study, analysis, diagnosis and planning for the

intervention to be undertaken by the social workers working with famlies 1s called as

(1) Intensive family preservation approach
(2) Strategic intervention
(3) Emotion focussed intervention

(4) Psychotherapeutic intervention

v 2o S wad Ao, faveu, fem ot uREnri & Wiy wm e arel guiie ettt 6 g
el TET vg T wE T 2

(1) g afEr gge 2umy (2) umies ZEasy
(3)  Wahisd axam (@) TR 2wa

[Question ID = 2661][Question Description = Q36_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10641]
2. 2 [Option ID = 10642]
3. 3 [Option ID = 10643]
4. 4 [Option ID = 10644]

37) When did CSWB conceptualize the concept of ‘Family Counselling Centre’?
1) 1968 @ 1976
(3 1980 (4 1994

H. w8, 350, fl. 7 UNER W 5l WeeaA i 9w w7

(1) 1968 (2) 1976
(3 1980 (4) 1994

[Question ID = 2662][Question Description = Q37_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10645]
2. 2 [Option ID = 10646
3. 3 [Option ID = 10647]
4. 4 [Option ID = 10648

38)

relationships, context. or the characteristics of others is called as

(1) People’s observation
(2) Social perception
(3) Person’s interpretation

(4) Societal exploration
arfo vfreen, P, gwrel, gl @ gt 6 ol Gevmet % an 5 folr w6 2
QTSR RO A1 Thd1 Y TEeE A1 ST H FE T4 2

™

(1) =9 79arE

(2) AT TR

Identifying and utilizing social cues to make judgements about social roles, rules,
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(8)  dafFas =mem

(4)  wEif F=En
[Question ID = 2663][Question Description = Q38_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10649]
2. 2 [Optien ID = 10650]

3. 3 [Option ID = 10651]
4. 4 [Option ID = 10652]

39)  The first school of social work was established in 1936 which is now known as Tata Institute of

Social Sciences but the need of training social workers in India was recognised as early as in
1923 by

(1) Social Service League
(2) Servants of Indian Society
(3)  Haryjan Sewak Sangh
(4) Central Social Welfare Board
A W % TN faEnerd 1 T 1936 1 3 S ora 2 sfeee 3% Wi Oishs % ¥ H SE Sl |
ST 1923 H 2t wra o Timters Frwarell o Jieaer s SIavEehal s g i wed i ?
(1) = gfEE |dm
(2)  TECH A S WA
(3) oW TaF §H
(4)  Heo A AR A
[Question ID = 2664][Question Description = Q39_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10652]
. 2 [Option ID = 10654]

. 3 [Option ID = 10655]
4 [Option ID = 10656]

oL B

40) Moplah rebellion movement did happen in

1) Bengal
2 Bihar

3) Kerala
€)) Punjab

i i b A &
HITAl Tooeidl SATgIer Fal goll 917

(1) =ma @) fEr

-

(3) F= (4 U9

[Question ID = 2665][Question Description = Q40_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10657]
2. 2 [Option ID = 10658]
3. 3 [Option ID = 10659]
4. 4 [Option ID = 10660]

41)  Ernest Green wood has advocated ‘attributes of social work profession’

(A) Systematic body of knowledge
(B)  Professional authority

(C) Social or Community Sanction



www.prepp.in

(D)  Regulatory Code of Ethics.

Choose the most appropriate answer from the options given below :

(1)  (A) and (B) only
(2)  (A). (B) and (C) only
(3  (B). (C) and (D) only
@  (A). B, (©) and D)
3T W T3 F SER TES B SHaEE i e € -
(A) geErRya IH
(B) =AEUIEE THTFR
(C) W M WG T i

(D) TEFETTF 3TER Siear

= v v fomeTl 0 O T o W 9m S
(1) #Faa (A) 3T (B)

2)  FE (A). (B) 3R (0)

(8)  Faa (B). (C) 3 (D)

@ (A B (C) D)

[Question ID = 2666][Question Description = Q41_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10661]
2. 2 [Option ID = 10662]
3. 3 [Option ID = 10663]
4. 4 [Option ID = 10664]

42} Which among the following pairs are correctly matched?

(A)  Abe bodied poor —  Jail & Work
(B) Impotent poor —  Work houses
(C)  Dependent children —  Apprenticeship

Choose the most appropriate answer from the options given below :

(1) (A and (B) only
(2)  (B) and (C) only
(3)  (A) and (C) only

(4) (&), (B) and (C) only

ftafaa 4 o e 30 =1 sfg fem gan 37

(A) = MU - FRER @ W

@®) e fel - webmend
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©)

aToa W= - e

e feu 7o foerewl O © TE SUYEA IR B =EA FIT

(1)

)

(3)

(4)

e (A) TR (B)
wadt (B) 31 (C)
FTd (A) 317 (C)

Had (A), (B) 3R (C)

[Question ID = 2667][Question Description = Q42_S5ocWork_SHAAN_0521_52_5Shift1]
1. 1 [Option ID = 10665]
2. 2 [Option ID = 10666]
3. 3 [Option ID = 10667]
4, 4 [Option ID = 10668]

43)

The understanding of Feminist theory plays an important role in social work practice. Who were
described as ‘man haters’ by critics ?

(A) Liberal femimst

(B)  Radical feminist

(C) Sociahst femimst

(D)  Marxist feminist

Choose the most appropriate answer from the options given below

1y  (A)only
(2)  (B)only
(3) (A) and (B) only
(4)  (C) and (D) only

AT Fgra 1 SR WieE w1 SHaeR H U Wacau e 1 FEe WA 2 STergs gR

e gt FET T R Y
(&) TR AR
B) AW AREG
(C)  THeEm TREmm
D) AFEAE AWE

A feu o fomkeat § O oo 39gFd T 1 F54 FiTAC

(1)
2)
A3)

(4)

FaA (A)
a1 (B)
Fa (A) 377 (B)
w7 (C) #R (D)

[Question ID = 2668][Question Description = Q43_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10669]
| 2. 2 [Option ID = 10670]

prepp
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| 3. 3 [Option ID = 10671]
4. 4 [Option ID = 10672]

44)

Which of the following are the content theories of work motivation?

{A) Alderfer’'s ER(z theory

(B) Hertzberg's two factor theory

(C)  Maslow's theory of needs hierarchy

D)

Choose the correct answer from the options given below :

(1) (A). (B)and (D) only
2 (A). (C) and (D) only

(3) (B, () and (D) only

4 (&) (B)and (C) only

Frfafiaa O o FF wrE- iR F 9mw orEeeE g 7

(A)

(B)

TeSE T 5. IR, o1 g

zesa! = fepres fugi

(C) Wield =l SETHaT-YadHH g

D)

qteT HI e T e -wegf g

9 i v FEew § O e 3w 99 e

(1)

(2)

3

(4)

[Question ID = 2669][Question Description = Q44_SocWork_SHAAN_0521_52_Shift1]

Fa (A). (B). 3T D)
FH (A). (C) 2R (D)
Faa (B). (C) 3l (D)

Fae (A). (B) 31 (O)

1. 1 [Option ID = 10673]
2. 2 [Option ID = 10674]
3. 3 [Option ID = 10675]
4. 4 [Option ID = 10676]

45) What are the essential characteristics of tribal communities?

&)
(B)
(O
(D)

(E)

Choose the correct answer from the options given below

(1)

Primitive Traits

Geographical isolation

Distinet culture

Shy of contact with community at large

Economically backwards

(A). (B), (D) & (E) only

Porter and Lawler’s performance satisfaction theory

prepp
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2 A.3B.00 &E
3  (B). (C). (D) & (E) only

(4) (A). (B), (C) & (D) only

ST e i STETAT Eema 7 B 7
(&) wien @wEm

(B) Wi Tdw

(©) ot Tepn

(D) UEERE TEE Y T § TR

(BE)  sufdes fssmE

9 Teu Tu famreat 4 O 9E I B == it

(1) =T (A). B). (D) 3t (E) 2 (A). (B). (C). (D) 3k (E)
3)  FaE (B). (C), (D) 3R (E) (4) A (A). (B), (C) 3R (D)

[Question ID = 2670][Question Description = Q45_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10677]
2. 2 [Option ID = 10678
3. 3 [Option ID = 10679]
4. 4 [Option ID = 10680]

46) Diagnostic approach to social case work practice focuses on

{(A) Individual Pathology
(B) Organismic Theory

(C) Helping Process

Choose the most appropriate answer from the options given below :

1 (A) only
2 (B) only
(3) (A) and (B) only

4 (B) and (C) only

T 5 T NeeT F HeHeHS SUTTH 568 W S9M Hiad Wl 2 7

(A) =A% WIEEE W
B) St fagE w

(C) =M UEmel W

= fou U formew § © W SUgEd SR W 99 ST

£1% e (AN
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@ %I« (B)
(3) I (A) ¥R (B)

@  Fa« (B) ¥R (C)

[Question ID = 267 1][Question Description = Q46_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10681]
2 [Option ID = 10682]
. 3 [Option ID = 10683]
4 [Option ID = 10684]

e

47) “Transference’ is

(A)  Conscious or unconscious feelings and attitudes that arise during interaction with

client
(B)  Unconciously remind of others and relating to individuals
() Transfer elements of attraction or repulsion
(D) Liking and disliking occurs in a planned manner

(E) Client reacts iInappropriately with excessive or disiraught feeling

Choose the correct answer from the options given below :

M (A, B), (D) & (E) only
2 A, (©), (D) & (E) only
(3  (B).(C), (D) & (E) only
@ (@A) B),(C) & (E)only

AR 7

(A) e A1 I a3 wfiglt St wendll & my s e o sty f sorm Ed )
(B) @ it =l & sraw o § wefea

(C)  srrpdor =T faamir % Heat =1 ST=a |

(D) o9& 3N 9@ UF A 21 Y B 7

(E)  demfl seafier = 3fgn aaanetl & |y sruadd &1 o ufafear o 2 |

H= fov T fwew § T 9 SO W 99 FIT

1) Fa (A). (B). D) 3K (E)
@  F (). (C). (D) 3R (E)
3  F ®). (O, (D) 3R (B)
@ = Q). B), (C) A (E)

[Question ID = 2672][Question Description = Q47_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10685]
2. 2 [Option ID = 10686]
3. 3 [Option ID = 10687
4. 4 [Option ID = 10688]

48)  Which among the following are the characteristics of urban community?
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(&)
(B)
(©)
D)
(E)

Choose the correct answer from the options given below :

small size

high density of population
homogeneity

anonymity

mobility

(1) (A). (B). (C) & (D) only

(2) (A). (B). (D) & (E) only

(3) (B). (D). & (E) only

4 (A). (B). (C) (D) &(E)
Feafeiee 8§ =i THE TagE F Eemad 27
(A) Y 3THEN

(B)  SFEEAT Bl 3= T

(C)  TarEr
(D) XIE | Lare ]
(B)  wiicefierar

fr= fou o foedl § § w91 S F 99 Fh

(1)  F&Ea (A). B), (C) ¥R (D)

@)  FaF (A). B). (D) I (E)

(@) = (B). (D) 3 (E)

@ (A (B). ). D) IR (E)

[Question ID = 2673][Question Description = Q48_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10689]
2. 2 [Option ID = 10690]
3. 3 [Option ID = 10691]
4. 4 [Option ID = 10692]

49)

&)
(B)
(©)

(D)

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

Which of the following concepts and 1ssues are frequently referred 1n Paulo Freire's writings?

Critical conscilousness
Oppression
Banking concept of education

Education as Praxsis

(A) and (B) only
(A), (B) and (C) only

(A). (B). (C) and (D)
(D) and (A) only

prepp

Your Personal Exams Guide



Www.prepp.in .repp

Your Personal Exams Guide

qiacdl B < oild+d H THHIEiEd H H T HAGURIAT AR HGGT ] 9K S5 ThA1 THl & ¢

(A) OO S 9o

By A
(C)  Toen it AT sT@uwoEn

i

(D) Trar=ae (i) =9 9 e

5 R o fre § & TR ST IR F T S -
(1) 3 (A) 3R (B)

2 %A (A). (B) 3R (C)

3 (&), B), (©) IR D)

@)  waw (D) 3R (A)

[Question ID = 2674][Question Description = Q49_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10693]
2. 2 [Optien ID = 10694]
3. 3 [Optien ID = 10695]
4. 4 [Option ID = 10696]

50)  Which of the following is correct about Gandhi’s classic text “Hind Swaraj”?

(A}  The original text is in Gujarati
(B) First published in the columns of the Indian Opinion

(C)  Written during return voyage from London to South Africa
(D)  Written during the voyvage from India to London

(E) It was an answer to the Indian School of viclence

Choose the correct answer from the options given below

1)y (A B). (C) (D) and (E)
(2) (A). (B). (C) and (D) only
(3) (A). (B). (C) and (E) only

(4)  (B). (C). (D) and (E) only
mieftsht A aftg T T e’ W A Setafea § % 9 @ o w8 37
A) I IS TR A
(B) TEE Ugel ‘SreTA enfuiEA’ % wedi § weiee 58 |
(C) wiga A zham sfem i Tt wudl wen % g fordt e |
(D) uWa § @eA H wEgl Awn F d foreht 8

E) Tz fZo Fi v fEemar w1 s o)

F= o o fawew § O 9 ST W =9 e

D @A, ®.(©). D) 7 (E)
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©2)  Fad (A). (B). (C) ¥ (D)
(8) e (A). (B). (C) 3 (E)

(4 == (B). (C). (D) 3R (E)

[Question ID = 2675][Question Description = Q50_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 106%7]
2. 2 [Option ID = 10698]
3. 3 [Option ID = 10699]
4. 4 [Option ID = 10700]

51) Attrbute 1s related to
(A) Qualitative variable

(B) Quantitative variable

(C) Constant

Choose the most appropriate answer from the options given below :

(1) (A only

(2)  (A)and (B) only
(3) (A and (C)only
(4  (B)and (C) only

o7 (eRee) Fred wefie g 27

(A) TOIcH= =L
(B) HTTHE W

(C) o=

e fou T fomeui § W wEH SoUga ST W W it

() = (A)
(2 %A (A) 3T (B)
(3) A (A) IR (C)

(4)  “ad (B) 31 (C)

[Question ID = 2676][Question Description = Q51_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10701]
2. 2 [Optien ID = 10702]
3. 3 [Option ID = 10703]
4. 4 [Option ID = 10704]

52) Which among the following methods are used to ascertain whether two variables are

correlated or not?

(A)  Scatter diagram method
(B) Graphic method

(C) Rank method
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(D)
(E)

Karl Pearson’s coefficient of correlation

Concurrent dewviation method

Choose the most appropriate answer from the options given below :

)
2)
(3)
49

(A), (B) and (D) only
(C), (D) and (E) only
(4), (B), (C) and (D) only
(4). (B), (C), (D) and (E)

freafotae & @ B fafoal =1 swr 27 9o o % foe Ben s 2, 6 @618 @ = wewsfug € = 347

(A)  Tahiol s g
(B) e fara
(C)  wile faig

(D) e UEA F1 GgEeY T
(E) gaadl famee &t

4= fou o fomreal § O weE STgFa TR W TEA FI

(L)  F39 (A), (B). ¥ (D)

(2)  FaE (C). (D) 3R (E)

(3)  Fa (A). B). (C) ¥R (D)

@ (@A) (B). (). (D) K (E)

[Question ID = 2677][Question Description = Q52_SocWork_SHAAN_0521_52_Shift1]

oW =

53)  Which of the following have been incorporated in Foreign Contribution (Regulation) Amendment

. 1 [Opticn ID = 10705]
2 [Option ID = 10706]
3 [Optien ID = 10707]
4 [Option ID = 10708]

Act. 20207

(A) No foreign contribution shall be accepted by any public servant

B) To prohibit any transfer of foreign contribution to any association/person

(C)  To increase the administrative expenses from fifty percent to sixty percent

(D) To reduce the limit for defrayving administrative expenses from existing fifty percent to
twenty percent

(E) Empowering the Central Government to require Aadhar number, etc.. as 1dentification

document

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B). (C) and (D) only
(A). (B). (C) and (E) only
(A). (B). (C). (D) and (E)
(&4). (B). (D) and (E) only

fietertaa ° @ =i faceh aiem (fafem) sme =, 2020 ° gt e T 22
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(A) et oft SR-TEs P g TEREN ATIGH T=iga T8 A1 e |

B) faceh areE = EREh o oy /R B e R

(C)  wEIEHS A1 ki T W A FerehY 918 Uiawd e

(D) T TS SEAl 6 HE W IS A o s qiaee 9 aer |

(B) UgaN YANYS % Y T e TR AT SATET T 3c31G =l STEeaar =] A |

i feu o fammeal § € TE S = 999 i

(1) A (A), (B), (C) 3T (D)

2) = (A). (B). (C) 3K (E)

(3) (A (B). (C). (D) 31K (F)

@) == (A). (B). (D) 3 (E)
[Question ID = 2678][Question Description = Q53_SocWork_SHAAN_0521_52_5Shift1]
. 1 [Option ID = 10709]

. 2 [Option ID = 10710]

1
2
3. 3 [Option ID = 10711]
4. 4 [Option ID = 10712]

54) 1s useful 1n averaging ratios and percentages and in computing average rates of

increase or decrease,
(A) Median

(B) Mode

(C) Geometric Mean
(D) Harmonic Mean

(E)  Arithmetic Mean

Choose the correct answer from the options given below :
(1)  (A) and (B) only

(2) (B)and(C)only

(3) (C)only

(4) (D) and (E) only

A AR wiaet w0 sdtma e i st w1 9y afg @ wd i oer e A

ST B 2

(A WIS

B) =g

(C) T M

(D) EcH=h HTE

(E) THE "

H= fau 7o ferent O © TRl 598 1 99 i
(1) =99 (A) ¥R (B)

2 @&« (B) Al (C)

(3 = (C)
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)

el (D) 3 (E)

[Question ID = 2679][Question Description = Q54_S5ocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10713]
2. 2 [Option ID = 10714]
3. 3 [Option ID = 10715]
4, 4 [Option ID = 10716]

55)

A Learning Organization
(A) facilitates the learning of all its members

(B) continuously transforms itself

(C) has the capacity to learn and unlearn

Choose the most appropriate answer from the options given below :

(1) (A only
(2) (B)only
(3) (A) and (B) only

@ (@), B and (C)

U JESE A (AT SAEEeE) -

(&)

(B)

©

0 G Tl A FESE S giEE 9eH w1 |
ToF AR 4 Sced w2 |

4 T A SR it I e i amar g 2 |

4= fiu o foreal @ U TeE ST SW H T BT

(1)

(2)

(3)

(4)

FaA (A)
#ad (B)
helet (A) 3 (B)

FaA (A). (B) 3 (C)

[Question ID = 2680][Question Description = Q55_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10717]
2. 2 [Option ID = 10718]
3. 3 [Option ID = 10719]
4. 4 [Option ID = 10720]

56)

Choose the correct statements with regard to International Labour
Organisation (ILO)

(A)  The ILO became the first specialized agency of the UN in 1946 only
(B) ILO is the only tripartite agency of UN

(C) Indiais a founder member of ILO

Choose the most appropriate answer from the options given below :

prepp
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(1) (&) and (B) only
(2)  (B) and (C) only
(3)  (A)and (C)only
(4) (&), (B) and (C) only
ITAUSET A IS (1S, Tor 3. % g ° FE B g
(A  IME. TF. . 1946 F £ TFF T TG A G5 TR S 56 |

(B) T UH, . UEF Y TF FI THAN Buaiy i 2 |

(C) WA 3ME. UeA. 7. = U WEATTH 5 2 |

e faw o foepedl § W Ted 29gH I 9H Fife

(1) ad (A) I (B)

(2) AW (B) 3 (O)

(3) Fa4 (A) IR(C)

@ (A, (B) 3R (C)
[Question ID = 2681][Question Description = Q56_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10721]
2 [Option ID = 10722

]
. 3 [Option ID = 10723]
. 4 [Option ID = 10724]

o =

57) Which among the following are included in the constitution as fundamental duties?

(A) To respect the national flag

(B) To educate everyone

(C)  To cherish our national ideals which inspired our national struggle for freedom
(D)  To uphold unity and integrity of India

(E)  To develop saientific temper

Choose the correct answer from the options given below :

(1) (A, (B) and (C) only

(2) (A (C). (D) and (E) only
3  (B).(0), (D) and (E) only
(49  (A).(B), (D) and (E) only

oy ¥ i e ol 3 w9 § wfem § affa 17
(A) T @ I A

B  o¥i =+ Pifdm =

(C) TR T Gl A o g Taea 5y SN TP TE A i R )

(D) WA 6 ThaT SR STEvEE W 2T TG |

—— B L8 9 BT 4.8 ™
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L) ATIAD SUT DI IHTIHA AL |

= f3u o Fem § © TR SOX F 99 i

(1)  @ae (A), (B) 3 (C)
2)  Fa (A), (C), (D) 3R (E)
(3) = (B). (C), (D) 3 (E)

(4  FE (A). B), (D) 3 (E)

[Question ID = 2682][Question Description = Q57_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10725]
2. 2 [Optien ID = 10726]
3. 3 [Optien ID = 10727]
4. 4 [Option ID = 10728]

58) 'Beti Bachao Beti Padhao' is a campaign by

(A)  Ministry of Women and Child Development
(B)  Mhnistry of Health and Family Welfare

(C)  Mimstry of Human Resource Development / Education

Choose the correct answer from the options given below
(1) (A)only

(2)  (B)only

(3)  (B) and (C) only

(4) (&), (B and (C)

‘T TR, § TSI .. & U AfEE B

(A) HfEn va 99 W geed
(B) A Ud TNAR ol Seied

(C) BFa WS o /e J=nea

= v o Few § © R ST W = A

1) = (A

@) = (B)
(3 FFa (B) W (C)

@ (&), B RO

[Question ID = 2683][Question Description = Q58_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10729]
2. 2 [Option ID = 10730]
3, 3 [Option ID = 10731]
4, 4 [Option ID = 10732]

) Which among the following elements are not associated with ‘Job analysis™?
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Freforfign § % 9 2 e ‘wr-franr § wefe w8 7

(A)
(B)
©)

D)
(E)

Choose the correct answer from the options given below :

(D
(2)
3
(4)

Human Behaviour

Human Requirements
Machines. tools and equipments
Carreer management

Human Engagement

(C) and (D) only
(C). (D) and (E) only
(D) and (E) only
(&), (D) and (E) only

@) WA TR
(B)  HFE AETTFRAC

(©) Ty, Zo9 iR o=

D) HER vEeA

(E) wra gera

4= f2u v fEpedt § @ ugt sov W =9A Fifde
(1) == (C) 3ik (D)

@ = (0), (D)3 (B)

@ %= (D) 3R (E)

@  F= (A). D) 3R (B)

[Question ID = 2684][Question Description = Q59_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]
4. 4 [Option ID = 10736]

60)

Neonatal mortality is still hagh in India due to

(A)

(B)

(©)

Choose the most appropriate answer from the options given below :

(1)
2
(3

(4)

Unsafe newborn practices

Poor safe motherhood care practices

Institutional deliveries

(A) and (C) only
(B) and (C) only
(A) and (B) only

(4). (B) and (C)

prepp
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e @ # Bem RV ¥ YR ® Taed goged ot off 3w 27

(A)  wTaead Fedr et gu
(B) T e S gt = T eyt

(C) OPE Tag

Hr fou o farent ¥ T ge Sugead ST 9 =EA i

(1) = (A) 2 (C)
@  aa (B) @R (O
(3)  aw (A) 3R (B)

@) (A, (B) 3R (C)

[Question ID = 2685][Question Description = Q60_SocWork_SHAAN_0521_52_Shift1]
1 [Option ID = 10737]
. 2 [Option ID = 10738]
. 3 [Option ID = 10739]
4 [Option ID = 10740]

oWk B

61) CSWB has started counselling centres exclusively for devadasis and sex workers in

(8) Mumbai
(®) Kolkatta
(C)  Chennai
@) Belagavi

(E) New Dellh1

Choose the correct answer from the options given below :
(1) (A (B)and (C) only

2 @A.(B),(C) and (E) only

(3) (&) and (D) only

@ @A), ®B), (). (D) and (E)

di. wm. geey, o, 7 FadwaAr JaafaAl T 9 oy % T FET Wy - IR

o 27

@ e

(B) e

© =

D) ST

B i foeh

9 fu o et § ¥ e 39 % A i

(1) 39 (A). (B) 3 (C)
@)  *aad (A). B), (C) ¥ (E)
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3
(4)

e (A) 31T (D)
(A). (B}, (C). (D) &iit (E)

[Question ID = 2686][Question Description = Q61_SocWork_SHAAN_0521_S52_5Shift1]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4, 4 [Option ID = 10744]

62)

Mention the commissions which fall under Ministry of Social Justice and Empowerment

(A) National Commission for Scheduled Castes
(B) National Commission for Backward Classes
(® National Commission for Safai Karmachar

(D)  National Commission for Denotified Nomadic and Semti nomadic Tribes

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A). (B)and (C) only

4y (A). (B), (O) and (D)

(&)

(B)

()

(D)

TS TR FHAR AT

TP 9T T SRR SFe S

9 fu o fommewt 9 O o s W 9= Hiu

(1)

(2)

(3)

(4)

e (A) # (B)
I (A) HR (C)
A (A). (B) 3T (O)

Q). (B). (C) 3w (D)

[Question ID = 2687][Question Description = Q62_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10745)
2. 2 [Option ID = 10746]
3. 3 [Opticn ID = 10747]
4. 4 [Opticn ID = 10748]

63) Which amongst the following are not the characteristics of Democratic Socialist model of

development?

(A) development through the securing of socialist goals by using democratic means
(B) development through the securing scolalist goals by using autocratic means

(C)  the planning and policies are spontaneously imposed on people

prepp
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(D) organised planning 1s followed

(E) democratic processes of politics are adopted

Choose the correct answer from the options given below :

ey
(2
3
(4

(A). (B), (C) and (D) only
(A). (C) and (D) only

(B), and (C) only

(A). (D) and (E) only

Frfefiga 9 o =0 Ol e & aeari=e—- gArsar aieam = femand 18] 27

(A)  TrRaT® TOW % TA © TATSEIE FEA FI T % g o
(B) TEroImEN el % YA ¥ GASIE] @Al i Titd % g
(C) =t ik fifemt o = wag: swifa 21

(D) Hfsa e =1 arer e s 2

(B)  THita =1 Separt=es wfeard srfma =i st 2 |

= fow m fermpegt o © B 3w T Fif

O FE A). B). (C) 3R (D)

@) %= (A), (€) IR D)

(3)  =aw (B) 3R (C)

@ = (A), (D) 3R (E)

[Question ID = 2688][Question Description = Q63_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752]

64)

As per the provisions of Child Marriage Act 2006, the “child” means

(A) If male. one who has not completed 21 years of age

(B) If female. one who has not completed 18 years of age

(C)  Any person who has not completed 21 years of age

(D) Any person who has not completed 18 years of age

Choose the correct answer from the options given below :

(1) (A) only

(2 (C)only

(3) (D) only

(4) (A) and (B) only

s -featg oy =3, 2006 % 3HER ‘O w5 w1 A 3

&)

3R %9 B 9l - =g 21 a9 W B0 A B A |
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(B) OTR AN 2 - a% 18 @8 ¥ F9 37 i 7 |
(C) 21 a9 § FH 31 B s o = |

@) 18 a9 | FH 1 F1 B Wi = |

fr= fou 7o oot § @ w1 @ = 999 fifew
(1) a9 Q)
@) F (C)
(3) %= (D)

(4)  Faa (A) IR (B)

[Question ID = 2689][Question Description = Q64_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10753]
2 [Option ID = 10754]
. 3 [Option ID = 10755]
4 [Option ID = 10756]

e it R

63)  The focus of Residual Model of Social Policy 1s

(&) Government support for people’s well being as a safety net
(B) Poor people are helped through various programmes run by Government
(C) People make arrangements for their own well being

(D)  The well being of poor 1s of least importance

(E)  The wealthy persons are bound to help the people in need

Choose the correct answer from the options given below :
(1) (A and (B) only
(2) (@A) and (C)only
(3)  (A).(C)and (D) only
(4  (B) and (E) only
At i % et v (asa) = w5 fag 27
(A)  UF TN TF T T H AR % HeA F o0 aehr TEW
(B) TR * g Gt fafirr el b aveem @ e 1 g
(C) = TE F GG Tg TN F 4
(D) AT $r Grrgrel ¢ FH TEAT | |

(B) o =afag Se=am= & =l TeEa 0 % o 95T 2

= fon T famew § O w S W T it

(1)  #had (A) 31T (B)
(2) I (A) 3R (O)

(3)  FEA (A). (O) 3 D)
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(4)

Faet (B) 3 (E)

[Question ID = 2690][Question Description = Q65_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
7
4

3 [Option ID = 10759]

. 4 [Option ID = 10760]

66) Natch List I with List IT

4 WD), (B)-ID. (C)-A1D, (D)-
gt 1% ary gt 11 = foem $iee
-1

LastI
(A) Narmadha Bachao Andolan
(B) Nirbhaya Movement
(C) dJungle Bacho Andolan
(D) Chipko Movement

List IT
() 1985
(I) 2012
(II) 1980
IV) 1973

Choose the correct answer from the options give bleow :

1y  (AIV), B)-dID. (C)-AD. (D)-D)

2 @-AD. B-1). (C)-1D, (D)-

Iv)

3y  (A){I), (B)-(IV). (C)-T). (D)-(1I)

(A) T Tl AT

(B) = smgied

(C) el Aol SATTer

(D) oo sT<er

av)

Eigit
@ 1985
I 2012

(I1T) 1980

av) 1973

5 o o foeredl 9 O W ST W 99 Hie

(1)
(2)
(3)
(4)

(A)-AV), B)-dID), (C)-aD. (D)-I)
(A)-AD). (B)-(D. (C)-(II). (D)-IV)
(&)-(ID. (B)-(IV). (O-(ID). (D)-1I)
(A)-D), B)-AD). (O)-AID). (D)-IV)

[Question ID = 2691][Question Description = Q66_SocWork_SHAAN_0521_52_Shift1]

oW =

. 1 [Option ID = 10761]

2 [Option ID = 10762]
3 [Option ID = 10763]
]

67)

. 4 [Option ID = 10764

Mateh List I with List II

List I
(A) October 11
(B) October 15
(C) October 16
(D} October 17

List II
(I) International day for the eradication of poverty
(II) World food day
(III} International day of rural women
(IV) International day of girl child

prepp
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Choose the correct answer from the options give below :

(1 (A-D. B)-1D. (O)IID). (D)-AV)
(2) (A)-D, (B)-D. (O)«(IV). (D)-1II)
3y  (A)-JID, (B)-IV). (C)-I). (D)-(II)
(4) (A)-OV), (B)-1IL). (C)-d1), (D)-(I)
g 1% wra gt I = frem ifere
i g1
(&) 11 s I =g wWisl s foam
(B) 15 IR (D) fave @ foam
(C) 16 srugern (IID) st ardior afzen 5oy
(D) 17 HAags (IV) =g srferern fooa
= g v farkedt o O TEl 3T 1 =EE Hi
(1) A1), B)-AD. (O)-d1ID), (D)-(1V)
(2) (A)-(I0). (B)-(I). (C)-IV). (D)-(1II)
(3) (A)-(ID). (B)-(IV). (C)-(D). (D)-(ID)
(4) (A)-(IV), (B)-AIL). (C)-(II). (D}-(I)

[Question ID = 2692][Question Description = Q67_SocWork_SHAAN_0521_S52_Shift1]

1
2
3.
4

68) Match List I with List IT

(A)
B
(©)
D)

. 1 [Option ID = 10765]
. 2 [Option ID = 10766]
3 [Option ID = 10767
. 4 [Option ID = 10768]

List I
Article 15
Article 16
Article 17
Article 32

List II
() Equality of opportunity in matters of public employment
(II) Raght to constitutional remedies

(III) Abolition of untouchahility

(IV) Prohibition of diserimination on grounds of religion. race,

caste. sex or place of birth

Choose the correct answer from the options give below:

g 11
(I) FESHF TSR % SHa1 § a9 ) gaEa
(I1) HATF =R F1 STaFn

D (A (B)-AD. (O)-(D. (D)-(IV)
@  @-IV). B)-O. (©)-d). (D)-AD)
@  @-D. ®)-dD. (O- 1D, (D)-AV)
@  @-ID. B)-D. (O-{ID. (D)-AV)
g=ii-1 % 919 gI-11 =+ e Hife
g1
&) == 15
(B) et 16
(€) oF=ag 17

(IIT) STEg7aal =l I
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(D) wF=es 32
= 2u 7 e § § TR ST W 99 e ¢
(1) {(A)-(I1D). (B)-(ID. (C)-(D). (D)-IV)
(2) (A)-(IV), (B)-(D). (C)-({1II). (D)-(1I)
(3) QD). B)-ID. (O)-dII), (D)-IV)
(4) (A)-(II). (B)-(D). (C)-IID. (D)-(IV)

(IV) ¥, T, S, fom =1 570 20 & 3amr W)
e = Fuy

[Question ID = 2693][Question Description = Q68_SocWork_SHAAN_0521_52_Shift1]

1
2
3.
4

. 1 [Option ID = 10769]
. 2 [Option ID = 10770]
3 [Option ID = 10771]
. 4 [Option ID = 10772]

69) Match List I with List IT

(1) (A)-(I). (B)-(II), (C)-(III). (D)-(IV)
(2) (A)-(IID). (B)-(I1), (C)-(I). (D)-(IV}
(3) (A)-(I). (B)-(I1II), (C)-(ID). (D)-(IV)
(4 (A)-(IL). (B)-(ILD), (C)-(IV), (D)-(I)
geft I % @y gt 11 = fam it
=1
() Trog =1T% " 9% ogeeE o stea Rt we v
B) FFHH : A T TR
(C) . T u. 4 (7%) HI3e BR Heh W AE Hima I
(D) T I TIHIA 37 SeT Rt
H=t {5y v fameat o § wEt IO = 9= hifay
(1) (A)-(D), (B)-(1I). (C)-(II), (D)-(IV)
(2) (A)-(I1ID, (B)ID). (O)-(D), (D)-AV)
(3) (A)-(D)., (B)-IID), (C)-II). (D)-(IV)
(4) (A)-(1ID), (B)-(IID), (C)-AV), (D)-(D

()

(B)

Tast T

Retrospect and Prospect

(C) NAAC Manual for self study

(D)

of social work institution

Rewview of social work Education in India :

Cuwrmeulum : Social work education

Social work Education in Indian Universities

Last 1T
(I} 2005

(If) 2001
(1II) 1980

(IV) 1965

Choose the correct answer from the options give helow:

T=-11
I 2005

(II) 2001
(IIT) 1980

(IV) 1965

[Question ID = 2694][Question Description = Q69_SocWork_SHAAN_0521_52_5hift1]

1
2
3.
4. 4 [Option ID = 10776]

. 1 [Option ID = 10773]
. 2 [Option ID = 10774]

3 [Option ID = 10775]

70} Match List I with List IT

ListI

List I1

prepp
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{4) Ezxploratory
(B) Experimental
(C) Descriptive

(D) Diagnositic

(I)  Why 1s1t?
(I)  What 1s 1t?
(III) How to treat it?

(IV) Howisit?

Choose the correct answer from the options given below:

(1) AD. B)-1D). (O)-AL). (D)-IV)
(2) A, (B)-V). (O-D. (01D
3  A-AD. (B)-(D. (O)-AV), (D)-(I1D)
4 (AIV), B-IID, (O-aD. M-I

get [ % my g 11 =1 faem fifse
Th-1 geft-11
(A) RIS Iy =z wER?
(B) TEMEE (D) =g @7 27
(C) ST (ID) Tu ITaR +4 T e ?
D) FEEes V) =z 4 27

9 B v TEeT 4 ¥ 98 S w1 w99 Few

1 (A)-(D. (B)-(ID. (C)-dID. (D)-IV)

(2) (A)-(IIL). (B)-AV). (O)-(D). (D)-(1D)

(3) (A)-(ID). (B)-(D. (C)-(AV). (D)-(1LD)

(4 (A)-(IV). (B)-(1ID). (C)-dL). (D)-(I)

[Question ID = 2695][Question Description = Q70_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10777

2 [Option ID = 10778

]
3 [Optien ID = 10779]
. 4 [Option ID = 10780]

oW =

71)  Match List I with List IT

List I List II
(American Context) (Indian Context)
(&) Community Organization (I) Structural Change Model
(B) Locality Development Model (IT) System Change Model
(C) Social Planning Model (III) Neighbourhood Development Model

(D) Social Action Model (IV) Community Development Model

Choose the correct answer from the options given below:

(1)  @A-D. B-ID). (O)-AID. (D)-(IV)
(2)  @-AV), B)-UD. (CO)-ID. (D)-(I)
(3) (A1), (B)-AD. (O)-(I). (D)-1V)

prepp
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4 (A)-(ID. B-D. (C)-ILD). (D)-IV)

-1
(st wgs)

(A) wHEIES T

(B)
©

v fom diga
gmToE FEee oigd

(D) Tl e Higd

4= fou o et # @ W@t s W = Pl
(1) A)-D, B)-1D). (C)-dID, M)-AV)
(2)  @-IV), B)-IID). (C)-1D). (D)D)
(3) AT, (B)-(1D). (O)-@). D)-AV)
(4) A)-dD. (B)-(I). (O)-AIL). (D)-AV)

prepp
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[Question ID = 2696][Question Description = Q71_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]
72) Match List I with List II
TiastI Last II
Articles 1n the Constitution of India Description
(A)  Article - 38 (I)  Duty of the state to raise the level of nutrition
(B) Arficle - 41 (I) Promotion of educational and economic interests
of scheduled castes and other weaker section
(C) Article - 46 (III) State to secure a social order for the promotion of
welfare of the people
(D) Article - 47 (IV) Right to work to educate and to public assistance
In certain cases
Choose the correct answer from the options given below:
(2) (A)-(ID). (B)-(D), (C)-(IV), (D)-(IIT)
gei-1 % @y g1 #= fiem i
i1 Gt
I 5 Tla9ME % 3TwRe Terartor
(A) I=ag — 38 (D g % T A ATl T W T
(B) oTT=an - 41 (ID 3TIgaa W 3 37 FASR a1 B Aq0F T A
il =1 Tieare |
(C) ==a7 - 46 (IIT) T = Fedol % UicAEA 2g UST gRI Uh Wit
e Y |
(D) E=EE - 47 (IV) F= fFivaa gl o BifFm 55 = sl amie

TETHAT 2 H A F AGEH |

= 2u 7 s § 3 w9 S 999 e

(1)
(2)
(])

(A)-(D. B)-D). (O)-dIT), (D)-IV)

(ANATTITY. (BYA(TVY. (CYATTY. (TH-(T



www.prepp.in

4

(A)-(IV), (B)-(1II). (C)-AD. (D)-d)

[Question ID = 2697][Question Description = Q72_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10785]
2, 2 [Option ID = 10786]
3, 3 [Option ID = 10787]
4. 4 [Option ID = 10788]
73) Match List I with List 1T
List I List II
(A) Genotype {I)  Person’s genetic heritage
{B) Phenotype {II) Person's physical traits
{(C) Cognitive {III) Changes in person’s interactions with other persons
(D) Socio-emotional (IV) Mental activities associated with process of knowing
and experiencing
Choose the correct answer from the options given below:
(1)  (AQ-ID. By-(D). (O)-IL). (D)-IV)
2) (A)-(I1D), (B)-1), (C)-(I). (D)-(IV)
3 (A)-(IV), (B)-(LID). (O)-AD). (D)-(I)
4 (A)-(D). (B)-(ID), (C)-(IV). (D)-(I1I)
g=i-1 % 919 gI-11 #1 e $if
-1 -1
(A) ST @) =atFa Fi EEItE EoE
®) AR Ay =afFa % AR TEm
(C) WETEEF A1 T =afea i o= =afem % @Y o5a:-Fmet | 1w
(D) HEIAH-YEcH® (V) A 3R STYE 0 $i T © I A TatateEi

Hi= 131 v femmeat o 9 wEt ITT = 9ET i

(1)
(2)
(3)
(4)

(A)-AD). (B)-(D). (C)-(1ID. (D)-IV)
(A)-(1D). (B)-aD. (C)-(D. (D)-AV)
(&A)-(IV), (B)-(11L). (C)-(1D). (D)-(I)
A)-(D. (B)-(1D. (C)-1V). (D)-(I0I)

[Question ID = 2698][Question Description = Q73_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]
3. 3 [Option ID = 10791]
4, 4 [Option ID = 10792]

74)  Match List I with List IT

List I

(A) Brahmo Samaj

(B) Prathna Samaj

(C) Ramlyishna Mission

(D) Aligarh Movement

List IT
(I) Swami Vivekanand
(I) Sir Syed Ahmad Khan

(III) Rammohan Roy
(IV) Atma Ram Pandurang

Choose the correct answer from the options given below:

prepp
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(1 A-D. B-dD, (C)-ILD). (D)-IV)
(2)  (A)-ID. (B)-(I0D), (C)-AV). (D)-T)
(3)  (A)-(ID. (B)-OV), (O)-(). (D)-1I)
@ (@)-av), B)-dD. (C)-@. (D)-AI)

gr-1 % Ty -1 = fiem it

-1 gei-1I
(A) & T (D Tt e
(B) e T (ID) = &9 °3ne @1
(C) T e (IIT) T Hi=" T4
(D) aTelg MTFgeE (IV) STTARH TS
e feu 1 et o 9w 3w w1 9me hifee

(1)  (A-D. BLID. (C)-dIL), (D)-AV)
(2)  (A-ID, (B)-AID. (O)-AV). (D)D)
(3)  (A-AID, B)IV). (C)-(D). (D)-(II)
¢  A)-AV). B)-AID. (C)-1). (D)-ID)

[Question ID = 2699][Question Description = Q74_SocWork_SHAAN_0521_52_Shift1]

1
2
3
4

.1 [Option ID = 10793]
. 2 [Option ID = 107%4]
. 3 [Option ID = 10795]
. 4 [Option ID = 10796]

73)  Match List I with List IT

List I List II
Articles of Universal Declaration of Critical Motion
Human Rights
(A) Articlel and 2 (I)  Civil and Political Rights
(B) Article 3-21 (I Human Dignity and Non-discrimination
(C) Article 22-27 (III) Economic, Social and Cultural Rights
(D) Article 28-30 (IV) Solidarity Rights

Choose the correct answer from the options given below:

1y  (A)-O). GBI, (O)-(1D), (D)-(IV)
2y (A)-dD. B)-(), (C)-(IL), M)-IV)
(3)  (A)-AD. (B)-IID). (O-D). (D)-(IV)
@ @-D. ®-ID. (O-AID. (D)-0AV)

g=ii-1 % 91y geii-11 =+ e i
Gl 11
HHATEwR] 2 JE gaen ST STTATETCHS JTeie
() IT=ss 1 3R 2 () AT UF TEATaF STOHR
(B) =% 3W 21 (I) A& T ST T =1 s

(C) wg=ag 229 27 (IIT) STV, Ao UF HIEH s AR

prepp
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(D) g=ac 28 9 30 (IV) THTeHaT AR
Hi= 1 U fament o 9 wet ST = 9a it

1y (@D, B)-aID). (O)-1D. (D)-IV)
2y  A)-AD. B)-(I). (O)-dID). (D)-AV)
3y  A-ID. (B)-IID. (C)-(I). (D)-AV)
4y QD). B)-UD. (C)-IID). (D)-IV)

[Question ID = 2700][Question Description = Q75_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10797]
2 [Option ID = 10798
. 3 [Option ID = 10799
. 4 [Option ID = 10800]

PR e e

76)  In Erikson’s psychological theory, each stage 1s characterised by a particular psychological

conflict. Arrange the conflict as per life stage.
(A)  Basic trust Vs Mistrust

(B) Ego 1dentity Vs Role Confusion

(C) Autonomy Vs Doubt

(D) Integrity Vs Despair

(E) Industry Vs Inferiority

Choose the correct answer from the options given below :

1) (A B), (©), (D) and (E)

@)  @&). (€), (E). (B) and (D)

3 (B). (), (C). (E) and (D)

@ (0. (A), B). (D)and (E)
e = A et H Ok Y T g b G e e i o |
S Ft sTEEaT F YR W 39 Tl B S i
(&)  ERE favam aEm stava

(B) = AEeE T i 9

(&) Tl S I

D) " g 9 e

(E) =9 = 21

9 fou o famen § O o s e it
1) (A B).(C). (D) 3 (E)

2) A, (C). (E). (B) 3 (D)

(3)  (B). (A). (O). (B) 31 (D)

4 (O). (A). (B). (D) 3R (E)

[Question ID = 2701][Question Description = Q76_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10801]
2 [Option ID = 10802]
3 [Option ID = 10803]
4 [Option 1D = 10804]

P bl D —

. 77) Arrange the following lesislations in correct chronolomeal order acecording to the vear of
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enactment.

(A)  The Juvenile Justice (Case and Protection) Act
(B) The Narcotic Drug and Psychotropic Substance Act
(C)  The Probation of Offenders Act

(D)  The Protection of Children from Sexual Offences Act

Choose the correct answer from the options given below :

I @A).B). (C) and (D)
2 (B, (0, [D)and (A)
3  (©.B) ) and (D)
4 D), (), (B)and (A)

Tt faumt = 37 T 553 I 9 99 5 W2 BewEd § Saaead i ;
(A) TR = (G ta me) sitatem

(B) TUF I 3R A v uerey sittfem

(©) st i sifofem

(D) =T ST § == 1 T ety

9 fEu 7o faweat § ¥ Tt T w1 9 Hifen

1 (A ®). (© IR ([D)

(2) ®). (C). (D) I (A)

(3 (0. B). (A R D)

4) (D). (0). (B) 3R (A)

[Question ID = 2702][Question Description = Q77_SocWork_SHAAN_0521_S52_5Shift1]
. 1 [Option ID = 10805]
2 [Option ID = 10806]
3 [Option ID = 10807]
4 [Option 1D = 10808]

B R L ]

78) Arrange the phases of disaster management in an order of sequence.
(A) Mitigation
(B) Preparedness
(C) Response

(D) Recovery

Choose the correct answer from the options given below :

1 @A). B). (©). D)
2y (B). . 6. D)

£ STV Sy rAY TN
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MR- 1 (e erewren $1 vl § =afem it

A

B)

(©)

(5

A= f2u U fEpeur § § =2 39 w1 =994 I

1)
(2)
(3
4

[Question ID = 2703][Question Description = Q78_SocWork_SHAAN_0521_52_Shift1]

s

(4)

WASEr AT WL AT WSS

(&), (D). B). (©)

EeaiEau
=

P

e

HHeA

(&), (B), (C). (D)
(B). (&), (C). (D)
B, (C). (A). D)
&), (D). (B). (C)

1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]
3. 3 [Option ID = 10811]
4. 4 [Option ID = 10812]

79)

7 T w fowm w1 aewion g sataa W [ arareRer el S WO o 2
=t gRT 319 o i ufea = 59 56 g STME fRT ST el BRE o BHTER SAGEdd it |

(4)
(B)
(©)
D)
(E)

f9 Tov 7T el O ® T ST 1 =9 IS

Uric Bronfenbrenner’s contextual view of development emphasises the role of environmental

factors in development of individual. Arrange the factors experienced by individual in the

process of his/her growing up.

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below :

L
2)
(3)
4

Exosystem
Macrosystem
Microsystem
Chronosystem
Mesosystem

(C), (E). (A), (B) and (D)
(C). (B), (&), (D) and (E)
(B), (E), (C), (A) and (D)
(©). (D). (B). (A) and (E)

oz JoTet
CESS I
S HOTTAT
A oI

HET JUITAI
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1) (C). (B). A). (B) 3 (D)
2  (C), (B), (A), (D) 3 (E)
(3 (B (E), (), (4) 37 (D)

@  (C). (D), (B), (A) 31 (E)

[Question ID = 2704][Question Description = Q79_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]
4. 4 [Option ID = 10816)

80)  Corvect sequence of steps in H.H. Perlman’s problem solving model is
(A) Person
(B) Place
(C) Problem
(D)  Process

Choose the correct answer from the options given below :
@0 @A) 3. ©). D)
2 &), ), ®). (D)
3 B).A).C). D)
@  (B).A. O O

T, U9, U9 % U] FaR 9igd § Q9E] R 93 % B -

(a) =afFa
B =
(O) HHEAT
D) e
F= fan o forment § o W I w1 =9 Fite

1) A3 ©C).D
@ A0 3. D
3 B, &) O, D
@ ®.A 0.0

[Question ID = 2705][Question Description = Q80_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]

81) Arrange the following legislations relating to women in chronological order of enactment.

(&) Dowry Prohibition Act
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aiEenstt @ gt fefafas o = o5 Bl 29 F 70 § =ar it

(B)
<)
(D)

(E)

Indecent Represenation of Women Act
National Commission for Women Act
Equal Remuneration Act

Medical Termination of Pregnancy Act

Choose the correct answer from the options given below :

)
2
3
(4

(4), B), (C). (D), (E)
(A), (B), (D). (B). (O
(E). ). ). ©). B
(D). (E). B). (). (©)

(A) Iz uigey stfafem

(B) =fEenen % swew vl sifarEm
(©) T ufgen s sifafem

D) TuH WA A

(B) o = fafrcasm aamm o1fafem

Fra i o e § 4 T8 3 @ 99a il

(D
2
3
@

[Question ID = 2706][Question Description = Q81_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10821]
. 2 [Option ID = 10822]
. 3 [Option ID = 10823]
4 [Option 1D = 10824]

oLk B2

82) Arrange the features of the preamble of Indian constitution in a sequential order,

(A), (B). (C), (D). (E)
(A). (E), D). B), (C)
(E). D). (W. (©). B)
D). E). B). (). (©)

(A)
(B
©

(D)
(E)

Sovereign
Secular
Socialist
Democratic

Republic

Choose the correct answer from the options given below :

ey
@
6
@

(A). (B). (C). (D). (E)
A, (O), B). D). (E)
(A4). B). D), (C), (E)
®). (C), 4). (D), (E)

WdE gfeas i weaa i Rewaet w5 avieg w9 srafia Fifb
J3]cd Yoo

()
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®  gy-fe
(C) GHNTRT
(D)  ENFAACHS
(E) 0T

= fau 7o feredl @ @ T ST W 999 ST -

1 A D), ©). D), E)
2 @A), ©), B). D), E)
3 W.B®. 0. 0.5
4 (B0 A). D). (E)

[Question ID = 2707][Question Description = Q82_S5ocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3, 3 [Option ID = 10827]
4. 4 [Option ID = 10828)

83)  Arrange the following in correct sequence

(A) Formulation of the research problem
(B)  Formulation of the hypothesis

(C)  Formulation of the research design
(D)  Data collection and analysis

(E) Drawing inferences

Choose the correct answer from the options given below :

@D &), B). (). (E) and (D)
2 (B), (O). A). (D) and (E)
(3) (A, (B), (O). (D) and (E)

4 (B), (A), (C), (D) and (E)
Feifena =t wdt 39 ° saatera »i -
(A)  IFEYHE GEEns B e
(B) WA T e
(C©)  wigaaT T =i e
(D) e TuE wE ferveiom
(B) &A™ et
= fom Tu faepeai 0 B W STX W = A
D) (A), B), (©), E) 3k (D)
@  ®.0). @), D) E)

(3)  (A.®B). (), (D) T (E)
@  ®). @A), (). (D) K (E)
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[Question ID = 2708][Question Description = Q83_SocWork_SHAAN_0521_52_Shift1]
. 1 [Option ID = 10829]
2 [Option ID = 10830]
3 [Option ID = 10831]
. 4 [Option ID = 10832]

oW

84) Arrange the following sustainable Development Goals serially.

(A) Zero Hunger

(B)  Good Health and well being
(C) Gender Equality

(D) No Poverty

(E) Quality Education

Choose the correct answer from the options given below :

@1 D). A, B, E. )
2  @W.®. ©).(E). D)
3 D). ®B). (E),©. &)
@ (B, ), &), D), E)

iR dad_ faem @53 1 Aviisg A =afed i
4  SEw

(B) o713 W@eed iR e

(©) e FaAa

(D) T = e

(B) ot fram

H= fae T foedi 8 ® Wl ST F =9 it

(L (D). &), B). (E), (C)

(2) A, ®, ), (E). D)

3 D). ®B). (E). (C). A)

@ B). (C), A). (D). (E)
[Question ID = 2709][Question Description = Q84_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10833]
2. 2 [Option ID = 10834

]
3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]

85)  Arrange the hierarchy of needs in a sequential order

(A) Social Needs

(B) Physiological Needs

(C) Self Esteem

(D)  Safety and Security Needs

(E) Self Actualization
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Choose the correct answer from the options given below :

1 @. B, ©). D). E
2y  (B). D), &), ©O).E
3 B (C). ). D). (E)
@  (E), D). ), B). A

ATFTTTFATHAT o TEHF B Aviag B § oHaiead i

(A) T sTaTEEar

(B) A SAETEhaT

(C) 7w T=wH

D) &% sk g sTarEan

(E) 3 |y

fr feu o Tl & o Wt ST =1 wn iR
(1) (A). (B). (C), (D). (E)

(2) (B). (D). (A). (C). (E)

(3) (B). (C). (A). (D). (E)

4  (E). D)) B W

[Question ID = 2710][Question Description = Q85_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10837]
2. 2 [Option ID = 10838]
3. 3 [Option ID = 10839]
4. 4 [Option ID = 10840]

86)  Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Adolescents do not have high risk behaviour.

Reason (R) : Adolescence 1s a stage of developmental transition.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) i1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1 not correct but (R) is correct

49 2wy for e § ;. oF AfiEA Assertion (A) % 4 § fofiga ® @t 980 9% FWM Reason (R) %

-
=17 :

w1feReA (A) : TR =1 =HagR AR Fifiag-vu 8 e g |
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FA0 (R) : R T s T o 2 |
U FUA 6 AR §, i 230 U el § ¥ gey 9w ST T i

1) (&) ik (R) AT @& § A (R), (A) i wdi same 2 |
@ (&) ik R) g @ E, @ (R), (A) i wE e 16 2
(3)  (A) W& &, @ (R) wdl 48 21

@ (&)= E R, A R) W R

[Question ID = 2711][Question Description = Q86_SocWork_SHAAN_0521_52_Shift1]

87)

1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]
3.

4. 4 [Option ID = 10844]

3 [Option ID = 10843]

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  Social work 1s a profession of many faces.
Reason (R) : Social workers practice in varied situations.

In the light of the above statements. choose the most approprate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

49 g PR fim e 3 . wF sIfiEmuA Assertion (A) % ®1 3 fafiga 3 @1 g@0 3u% FW0 Reason (R) %

w9 A
SR (A) HTHTIST i U g, AT SHawE 2 |
F (R) AETTTE Fwa gy et § w0 aw

ST HYA $ e A, A9 20 T fawen § © 998 39T ST W 95 SN

(1) (A) R R) T T 2 31 (R). (A) F 75 = 2|
(2 (A IR ®) T =E E, AR R), (A) Fi & = = R
(3 (A Td 2, dfeT B) wEt TE 2

(4 (A TH T 2w ®) TE 2

[Question ID = 2712][Question Description = Q87_SocWork_SHAAN_0521_52_Shift1]

| 1.

1 [Option ID = 10845]

prepp
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| 2. 2 [Option ID = 10846]
3. 3 [Option ID = 10847]
4. 4 [Option ID = 10848]

88)

Given below are two statements :

Statement I: Contagion theory assumes that individuals act irrationally as they come

under hypnotic influence of a crowd.

Statement IT: Emergent norm theory assumes that norms emerge after people gather for

collective behaviour and that their behaviour afterward is largely rational.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(D
(2)
(3
)

Both Statement I and Statement I are correct
Both Statement I and Statement IT are incorrect
Statement I is correct but Statement IT is incorrect

Statement I 1s incorrect but Statement IT 1s correct

fRasmftm? .

Foq () : a9 Togma s #tar 2 5 g + ooiigs w4 ond 31 =afaa faaegia ffa o =darg

G B |

w9 (ID) : 3t ok faga oo #ar 8 % 5= P ufgs =aer o g s 2id € 99 o weRe

2 | 31T 36eh w1g 39T HeIER IR qifches BidT 8

SWih H9A F el 8, A9 By 1 fepeui § @ wed 3uge s A e i

(1
2
(3)

(4)

F9 (D) 3t AN T 7 2 |
Fo () + (A0 2 7era 2
% (1) G2l 2, wifept =om (1) 7ad 2 |

9 (D) 7ol 2, died w99 AD T80 & |

[Question ID = 2713][Question Description = Q88_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]
3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852)

89)

Given below are two sfatements :

Statement I: Social action 1s a much needed method for social work practice 1n India.

Statement II: Social action has been given much importance in social work feaching in

India.

In the light of the above statements, choose the most appropriate answer from the options

given below :

ey

Both Statement I and Statement 11 are correct
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(2) Both Statement I and Statement II are incorrect

3) Statement I is correct but Statement II is incorrect

@ Statement I is incorrect but Statement II is correct
Hi=r &1 o fag o ¥

wod () :  amiser R vnd | gt B e o fore us st fafd 2 |

woF (II) : WRa & AT 0 0801 A AT 6 i Sga Jecd foam T 2 |

ST YA F ST °, A fou o fawen o F9% ST SR A 99 HIT,

M

(2)

(3

(4

FoF (1) o (ID) T T8 % |
w9 (D) 3R (D 2 7o 2 |

%97 (1) U2l 2, wft o (1) 77e3d 2|

%5 (1) 7o 2, T w9 (D =5 2

[Question ID = 2714][Question Description = Q89_SocWork_SHAAN_0521_52_Shift1]

PR e

90)

. 1 [Option ID = 10853]
2 [Option ID = 10854]
. 3 [Option ID = 10855]
4 [Option ID = 10856]

Given below are two statements :

Statement I: “Dowry”™ as per the Dowry Prohibition Act, 1961 means any property or

valuable security given or agreed to be given either directly or indirectly.

Statement II: Where any person is prosecuted for taking or abetting to take dowry or the

demand of dowry, the burden of providing that he had not committed an

offence shall be on him.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Btatement I and Statement IT are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

w0 ([): 25w T, e 1961 % HER g2+ 3f e A e = @ & W 3 foaw om

= Tl =g ety W agren il 2

F (ID : =9 Fis =G T55 oF W TS o T o0 SHAH A 5 W A FH T 0 AT B 3

T I FT UNY T e T g T an Aty ot ST F g

SYI B % e §, e fou o formew 0§ W ST W A i
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(L) %W @) 3 D 2 T 3 |

(2) =%y (D 3k AD =F 39 E |

(3) T () U= 2, A w9 (1) 315 2 |

(4) =y (D) 39S 2, #fer woE (D) 93 2|

[Question ID = 2715][Question Description = Q90_SocWork_SHAAN_0521_52_Shift1]

R

. 1 [Opticn ID = 10857]
2 [Option ID = 10858
. 3 [Option ID = 10859]
4 [Option ID = 10860]

prepp
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Topic:- SocWok_SH2Z_set1_B

1)

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature, the rise of poverty and migration processes. social stratification of
the society. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations, etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today 1n the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of soctal work responding to the globalisation of social processes are the
revision of its misgsion and tasks., the expansion of its scope and role. the
internationalisation of the profession, the extension of 1ts effoits to the international level,
the increased understanding of the interconnection of global, regional and local dimensions
of social problems. In the context of the complication of social work's goals. content and
funetions. the modernization of social work training is an urgent task not only in countries
where it is introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculuin, the introduction of distance education technologies, the strengthening of
interdisciplinary cooperation, the internationahisation of education.

FrAttEd T AT TG 2T SUF SNUR W A 58 e w1 s g

TESE S H ot & 8 dvdeon i ufFan a9 2F 2 vE R s T 2 9 7 S,

&,

TT T TR F STAE o, T W T w=E A a1 @ 2, S e ofk waes wtEme §

gfe, o= # g @i, sEferhE fTufa # frree, famemt i siiisate % fammers wew
&1 Teream a0z | Avevrwor 3 g s giga @ Swi © gyied wen st g G 2 ars g | e
T AvdTRor i IEETeT 3 TF U9 % w9 H WA FE B gPR AR wE A i o = R, S
% mrtors o H oo 78 Aftas wafierareTt o s w78 AT aferm | @ o |
Qe AR % v F giast H WO % 6 WA a8 - SO MF 3R T ° gued
T, 3% AL 31 YT 1 T r FE1, 39 U9 1 STAUS Ao AT, 3H TATEl B ARG T W
feoream w0 aon aife awenen % dfvaw, aeff ok warlia wrm A g aga f auw | gig
FCU | WA FHE B Iqordl, fawmeng it wEi f Fee@ ® oued H wnts wewdl uimem w5
YA A Had A 49 H G STFaF 3 6l SEH g 0 2 ORI 58 §, 9w o9 oo ° ot
ITEVTF 2 el U FE GeE R FH T T W R S g § | wmifers srEwaia o uieor
% sy f ygm vafen, seu e vee w EEale, aragmEl w0 whE, gy foren
Tttt i SeaTd, Sat-Taaa® TeAr ®1 Goerem S e = STatgEHo 3 |

As per paragraph, the scope of social work is considerably expanding because

(1) Social work 1s a professional activity
(2) Social work profession is under going significant changes
(3) Social work has adopted global developmental goals as its priority
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4 Soclal work tramming 1s now on path of modernisation

T = AT wrTeeh e gEl § shrhl feRan Bt 1 B il -

@
@
3
C)

TR T4 T STaeiy® it 2 |

TIHITHF T % aEE H FE a5eE 7 @ 2 |

I el 4 Afgas forrmens a1 A wafiwa 5 o0 § 79 2 |
TS T TGS T ST Sny o 8 w2

[Question ID = 2716][Question Description = Q91_SocWork_SHAAN_0521_52_5hift1]

1
2
3.
4

2)

. 1 [Option ID = 10861]
. 2 [Option ID = 10862]
3 [Option ID = 10863]
. 4 [Option ID = 10864]

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recenily been internal are increasingly becoming
international in nature, the rise of poverty and migration processes, social stratification of
the society. deterioration of the demographic situation, the spread of destructive forms of
manifestation of dewviations, etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priovities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of its miassion and tasks, the expansion of its scope and role. the
internationalisation of the profession, the extension of its efforts to the international level,
the increased understanding of the interconnection of global. regional and local dimensions
of social problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t i1s introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculuin, the introduction of distance education technologies, the strengthening of
interdisciplinary cooperation, the internationalisation of education.

FrAfREa T SIS TG ST 38 SNUR W A" fu e uvE 1 sw g

" SiEe w4 & 9 dvaERen i ghhaT o B4 9 UE Rl Sor B 3 e ws weeEe, S
T THA Tae o Taies off, Tt ¥ it e A el s @ 2, S Fe el o e whened A
ghg, T = wmE Wi, saerhE fefa 5 fuee, e S stveate % s wed
7 R oG | dvet § aee FH wiza S 30 5 guneA e a5 5 2 | o g | = e

@

Fyerror il UfEFETeT F UF UN F FH W AT M H PR SR FE § S0 e 9 T 2, 3

7 amias foem i st 12 Afas rlErae o g w5 9 Aigas qirr d gar Sed 2 |
H‘I‘qﬁﬁ!ﬁﬁ?maﬁ%ﬁ?cﬁm%uﬁdm T g mﬁ%waﬁ%%-m“ﬁﬁmaﬂ?ﬁﬁmﬁm
FE, SHH T SR i1 1 o 0T, 38 9% o ST RO B, SHE T B SR E W W
T O @ A aenel % 3fvaw, & o T st s wregan B au | gl
HET| T FH H 3qeydl, femmeng 3k wEl H Ffeaar & wed A wmilaw wrEwal shmam w6
YA 7 Had 39 <3 § achla AETTF 2 el SWh T 0 B JEeTa 53 2, Siew 9 o | off
IEYTF & Tal WIS FH Goe] HREN FUH W T TE e g § | s sewarel o e
& sy f ygE vafeEn, seu R vee @ e, graEmEt # udhe, g fore
Tt 2R JEmE, Aa-FEaF TEam F G5erem oI e A At 3 |

According to the author, social work profession can respond to the globalisation of social

processes through

(A)  revisiting its mission

(B) internationalisation of the profession
(C)  analysis the forces of the globalisation

prepp
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Choose the most appropriate answer from the options given below :
1) (@A only

(2)  (A) and (B) only

3 @A) B and (C) only

4 (A, (B) and (D) only

SEF h IAER, YA 1 H Ha9E {HR OTe O gt TEEETRT oh 4vdiir & 3HET B R Al
29
ol

(A) 3199 YA | geeE 0 |

(B) =HEE™ H AAUCHH T |

(C)  ATHH F TEH T AT T |

(D) =1 BRI 3R YRRt 1 AR % |

= feu o fawent 4§ Heg 3uge I o = i

(1) e (A) 2) A (A) 3 (B)
(8)  wHaw (A). (B) 3T (C) (4) Fad (), (B) AR D)

[Question ID = 2717][Question Description = Q92_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868)

3) Read the paragraph and answer the following question ;

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature, the rise of poverty and migration processes. social stratification of
the society. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations, etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today 1n the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of soctal work responding to the globalisation of social processes are the
revision of 1its misgsion and tasks., the expansion of its scope and role. the
mternationalisation of the profession, the extension of its effoits to the international level,
the increased understanding of the interconnection of global. regional and local dimensions
of social problems. In the context of the complication of social work's goals. content and
funetions. the modernization of social work training is an urgent task not only in countries
where it is introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification

of the curriculuin, the introduction of distance education technologies. the strengthening of
mterdisciplinary cooperation, the internationahsation of education.

FrAfEa T TS TG ST SHE SNYR W A" e e uva 1 sw g

AT S % wdft a § dvde f ufFa oW 2R 8w R sem B 2 ow W e, o
T A ToT OF STAE o, I W AR =Ew A aw o @ 2, A G il otk weem ahemet §
gfe, T # g i, sEferhE fufa A frree, fomemi i siiisate % fammers w9
&1 T anfg | dudfieor 4 guerwd wfza w5 o gene s sfEr s T 2) e g A e
T AgerRor i ThEmeT 3 TF U9 % w9 H WA HE b gPR SR wE A i faran = T R, S
& e T it st T AT muftmael o wae w1 A afem ¥ T wew B
QT AR % TRl % YTasT H e R % YT 0% 3 - 5k A ol W | weien
BT, 3% A 31 YT 1 o T, 39 U9 1 STAUS AR FAT, 3H TATEl B AP T W
fercam =t @en gt avened % Afvas, i ofi vl srml A g gsga f ang | afg
FE1| TN HE H ITAl, USR] AR BED H AT * GG H WS BEwal Sraen w6

-




www.prepp.in

HATFRTHA A #ded 91 GHIl H dooble] HAETEE & Sigl 39 gicd | Bl %A 58 &, Sle® 3 I H Al

IETFH & Fal GHre wE ol wrEim FT6 99 Yad % R S g 2 | gt erwatal & aisE

G
=+

syt 6 ygm vata, s=u o vee = Peaiw, aremmt w1 hiem, et

Tttt i SeeTd, Sat-Taaa® Tear F1 Goere S e = STatg =5 3 |

The global definition of social work can be considered as the evidence of

(A) expanding the scope of social work as profession

B) enhancing focus on global priorities

(C) expanding the tasks of social work as a profession

(D)  globalisation processes as witnessed every day

Choose the most appropriate answer from the options given below :

1 (A and (B) only

(2) (A) and (C) only

(3

(B) and (C) only

(4) (C) and (D) only
AT FA 6l T4 T o) e Ji%T 5= o 99l 2 7

(A) U F WY H, arifeE w1 % oPR § fOear

B)  AfTaE TGS W SHEE e

(C) UF =ad™ % &9 § GATH B b Bl B &R Bl

(D) il ek 9= awh Svdmm f v

fra Teu 7o o=l @ 9 @ed ST SO R =EA HitEn

(1)
2)
(3

(4)

Faat (A) & (B)
FAA (A) 2R (C)
e (B) 3R (C)
A (C) ¥R (D)

[Question ID = 2718][Question Description = Q93_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Optien ID = 10869]
2. 2 [Optien ID = 10870]
3. 3 [Optien ID = 10871]
4. 4 [Option ID = 10872]

4)

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recenily been internal are increasingly becoming
international in nature, the rise of poverty and migration processes, social stratification of
the society. deterioration of the demographic situation, the spread of destructive forms of
manifestation of dewviations, ete. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of its miassion and tasks, the expansion of its scope and role. the
internationalisation of the profession, the extension of its efforts to the international level,
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the increased understanding of the interconnection of global. regional and local dimensions
of social problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t i1s introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculuin, the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation, the internationahisation of education.

Tefettiaa e i SIFgE® 96 31 S% SR W e g T o= =1 s g

e SEE % et de § dvdee B afEan oF 29 8 UE Ul sae B 2 o s e, s
TT T TR A STAE o, T W Ao w=Ew A a1 @ 2, S s ofk waes wtEme §
gfs, T #1 gt s, sEiesr fufa | e, faaami 6 sitisats = s e

%l

feream anifz | dvefieor & e wiga w2 v o dwieE w5 sAtEe s fgar 2 ) s gl | we

T AT i TN 7 UH U9 % 1 H WA HE PR SR FE § F0e 9 31 B 2, S

i
IED

AT e A o1 T A wafimaet o wae w1 e aienm § e g 2|

I AGEAIET T ok Yfast ¥ WS el U 0 @ - 306 9E o FE ° gee
HT, FHH AL T YT B TR AT, 39 UL 1 ARIEIAR AT, SHh A B S W W
feream =t qn At agenadl % Aftan, @i ofi v wEmEl B g g B g | gl

FC | WAS B h IqeTAl, (Ouaa S FHEI hl FoTal * UG H WIS Bl TEEo B
MY T Haet 31 g2l § aehld AETaF ¢ Tel 3ol o | 2 OB 38 8, 9w o oo o o
IETIF & FEl W wA gaH) wRET wrh T e UE R s g 2 ) wfors wraia < wer

"
%

syt 6t yg@ vafe, s=u foa vee = eaiw, areme w1 hem, e T

Tt i SeeTd, Sat-Taaa® Tear ®1 e S e =1 STats =5 2 |

The internationalisation of education is considered one of the main trends in the

(1) internationalisation of the social response

2) modernising social work trainming

3) social work research
(4) formulation of social work goals

T1e % STRTgreR o Fefeted o o FROH O e Tafcd e e 8 e

(1)
(2)
(3)
(4)

A FEAT % ST IR | |
AT FE F AN H SR F |
T HE SHGUA H |

T FE F Il 5 e o

[Question ID = 2719][Question Description = Q94_5ocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10873]
2. 2 [Option ID = 10874]
3. 3 [Option ID = 10875]
4. 4 [Option ID = 10876]

3)

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature, the rise of poverty and migration processes, social stratification of
the society. deterioration of the demographic situation, the spread of destructive forms of
manifestation of dewiations, etec. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priovities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of its miassion and tasks, the expansion of its scope and role. the
internationalisation of the profession, the extension of its efforts to the international level,

tha itnamassad nmndanctamAdire AF tha ntavannmnaatrian AF alabhal aacmarnel and lass]l Aivaarnorsass
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of social problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t 1s introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculuin, the introduction of distance education technologies. the strengthening of

iterdisciplinary cooperation, the internationalisation of education.
FrAfEa T i CTYES T ST SHE SNUR W A" Y e uva 1 sw g

T SE % aft & 8 avdimon f uEam 99 26 o R sow B 2 9e = weee, |
T A To9 0% STAE o, O H AR =Ew A a o w2, A G i otk weem atemet §
gfe, o= # g @i, sEferhE fTufa # frree, famemt i siiisate % fammers wew
&1 Teream a0z | Avevrwor 3 g s giga @ Swi © gyied wen st g G 2 ars g | e
T AgeRor i GhEmeT 3 TF U9 % F H AT HE % PR SR wE d i faran w5 2, S
& e T it st T AT muftmael o wae w7 A afemm § T e 2
qIfees Rl % v % glasal H @S % h Ued ok 3 - SOk WE S il A guve
T, 3% AL 31 YT 1 T r FE1, 39 U9 1 STAUS Ao AT, 3H TATEl B ARG T W
ferar e @ grnfos @venen % dfvas, affm ot wara s f wen g f anw | gl
T | TS W % Iqovdl, ey ot Wl h AP & ued N i wewdl W w5
YA A Fad A 49 H G STFTaF 3 6l SEH g U 2 ORI g8 §, aiew o9 oo o off
IETTH 2 TR WIS FE Goel HREET FUH T TR S R S g% § | wmifers wEwatal o o
% sy f ygm vafen, s=u e vee w EEale, aregmEl w0 whm, gy foen
Tttt =i SeaTd, Sat-Taaa® Tear ®1 Goerem S e = STaig aHo 3 |

What can be the suitable title of the paragraph?

(A)  Analysing Social Work Profession

(B)  Globalising Social Work

(C) Social Work Education in the light of globalisation
(D)  Social Workers in Today's World

T 1 ST 3N P 5 Aol 3 7
(A)  THA wE T W e
B)  GHIS ®H I ST B

(C) S % s W qAe B e
(D) = i ghen | wEees Rl

Hr fim e fapedl W § Tl SUEH ST 0 = T

(1) =& Q) IR B) (2) =3 (B)
(3 =ad (C) (@ FFA (A) @R (D)

[Question ID = 2720][Question Description = Q95_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
3.

4. 4 [Option ID = 10880]

3 [Option ID = 10879]
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Topic:- SocWok_5SH2_set1_C

1)

Read the paragraph and answer the following question :

Passive resistance is a method of securing rights by personal suffering. it 1s the reverse of
resistance by arms. When I refuse to do a thing that i1s repugnant to my conscience. I use

soul-force. For instance, the Government of the day has passed a law which 1s applicable to

aitbeae: Tadie wped i ea il B S ool a S P eoas TR o i RPY o, CTRE Y BRI gl SR VW PRV UPRRE., [ 1 MAPTSS il | SRR, o
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employing what may be termed body-force. If I do not obey the law and accept the penality

for 1ts breach, I use soul-force. It involves sacrifice of self.
Frafafiaa T = SIS e TR 30 YR W A 5 ™ e swm g
G gy, =feam =8 5 T1em § 119R T 1 = 0 ol 2, 9% g -aag =1 il 21 s
ol SravHa % iepel SR A A W T 6 A A WA F S FA 7 | Iraond, 3w
! TR TF B Wi B S G T G0 BT 3 S a9y g2 e 31| o T o v ek, §
TR Fi FA e 7 % o e = £ 9 § O ww wm ovEe = w@ g, s6 anifos afEa e
o el = Ul & | AR A FFF H a5 FE I W qie B 2VE WHR B a1 59 a9 2 R
4 TIen w1t = AT F @ E | A8 AR Bl FHIGE T 2 |
The sacrifice of self 15 infinitely superior to sacrifice of others because
D Law 1s breached (2) Government is challenged

(3) Body-force 1s used (4) Only the person using it suffers

A % TAFT i YT ATCHICER 3 ¥4 ® 48 & FHih:

(1)  F o Ioead gl (2) TTHR HT A & T
()  =ifew 5 W1 T ga (4) heae GF HE U1 2 ST THFT T BT B |

[Question ID = 2721][Question Description = Q96_5ocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]
3, 3 [Option ID = 10883]
4, 4 [Option ID = 10884]

2) Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it i1s the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience. I use
soul-force. For instance, the Government of the dav has passed a law which is applicable to

me. I do not hike it. If by using violence. I force the Government to repeal the law. I am

employing what may be termed body-force. If I do not obey the law and accept the penality
for 1ts breach, I use soul-force. It involves sacrifice of self.
eI e CIAYES Te 2R 30 INuR W A fay T uvw o sw g
e Ty, =afaam 2 5 71598 o 1OFR 09 9209 = U a0 2, 7% gue-aay ® fawlda 2| 5.
# o7t sty  Tiage =S B QT H © Al H ST -5 A T E | Sgeond, I
1 TER TF  H WG WA GH W AW B 2 A T8 G AEE 2 | oTR fam W e w1, |
YRR 1 HE e F # o ey e € 9 3 G aw v = g, w9 wdifes mfe sreen
qMg-5e1 Fal 1 Tl ¢ | PR § FRE 6 375 F% 3T 3H a5 Tl 530S TSR %% af 3609 319 &

# e = BT WA @ Z | AT SAHICH T W b 2 |

Passive resistance 1s a method of

(1) Securing rights (2) Using violence
(3) Using body-force (4) Satisfying power

s iy v 7l 3
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(1)  TEHR-TH H (2) TEET % TP
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[Question ID = 2722][Question Description = Q97_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10885]
2. 2 [Optien ID = 10886]
3. 3 [Optien ID = 10887]
4. 4 [Option ID = 10888]

3) Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it i1s the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience. I use
soul-force. For instance, the Government of the dayv has passed a law which is applicable to

me. I do not hike it. If by using violence. I force the Government to repeal the law. I am

employing what may be termed body-force. If I do not obey the law and accept the penality
for 1ts breach, I use soul-force. It involves sacrifice of self.
FrrIREa e W IHYES U6 2R 36 INUR W A fau T uve w sw A
G gy, =feam =8 F o8 | S1T9R T 1 = 0 ol 2, 9% g -1aug # il 21 s
# ol SravHa % irpel SR A W T 6 A A WA F S FA 7 | IrEond, 3w
! TR TF B Wi B S G T G0 il 3 S a9y g2 e 31 o T o v ek, 4
TAER T HAA e T F o fow W £ a9 § B a9 e R @ E, 56 s wiEa s
qIE—o el = WAl & | AR A FFF H Em T I W qie B 2VE WHR FE a1 59 9 2 R

§ TIen =it = AT F @ E | 8 AR Bl FHIGE FE 2 |

Given below are two statements : one 1s labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) :  Passive resistance 1s a method of securing rights by personal sufferings.

Reason (R) : Soul-force involves sacrifice of self.
In the hght of the above statements, choose the correct answer from the options given below :

1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

d gt ®uF fiw v € . um AfiERYA Assertion (A) ¥ w9 ° faflga 2 @ gmu 3W% W0 Reason (R)
%Wﬁ

At (A) fafers g, oafdama w8t % T & sl e = = @l 2
o (R) STTeqa STCHICH Bl GHIE =RtdT 2 |
ST U & s °, A9 fow e fwedt © @ wd 3w v il

(1) (A 3T R) g1 a7 2 3K R), (A) i wE = 2 )
@) (A A R) T TA 2, AET R), (A) H T e 76 7

B (A TFE:, A R) EE R

@ (A 3w 2, AT R) T 2|

[Question ID = 2723][Question Description = Q98_SocWork_SHAAN_0521_52_Shift1]
1. 1 [Option ID = 10889]
2. 2 [Opticn ID = 108%0]
| 3. 3 [Option ID = 10891]
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| 4. 4 [Option ID = 10892]

4)

Read the paragraph and answer the following question :

Passive resistance is a method of securing rights by personal suffering. it 1s the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience. I use
soul-force. For instance, the Government of the day has passed a law which 1s applicable to
me. I do not like it. If by using violence, I force the Government to repeal the law, I am

emploving what may be termed body-force. If I do not obey the law and accept the penality

for 1ts breach, I use soul-force. It involves sacrifice of self.

FrrIREa e CAAYES U6 2R 30 INUR W A fau T uve # sw A

G Ty, =afdam =8 5 o8 § ST9R T 9 = 0 o 2, 9% g -aag #1 e 21 s

H 2y aTave % uiowe S W T T B O Ay ° e T = i, a1
PIRE TSl I X = F T 7 | IRIEN, AT

! TR TF B WG B S G T G0 il 3 S a9y g3 e 31 o e o v w0k, §

TAER T FA e FH F o faom W £ a9 3 B 99 e = @ E, 56 AWis wiEa s

G- Wl T WHAT 7 | AR H FF F S FE S W qST W qvs WHR FE a1 9H o 2 TR

§ fIen w1t =1 AT F G E | A8 ATHER] Bl FHIEGE T 2 |

Given below are two statements ;

Statement I: Soul-force and body-force have similar implications for securing rights

Statement IT : Body-force is the reverse of resistance by arms.

In the light of the above statements, choose the most appropriate answer from the options

o1ve below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement I is incorrect
(4) Statement I 1s incorrect but Statement IT is correct
A 31 Y R T E

wuA ([): iR miil 5q sregse 3 Iifos o gEE ffEad 2

w1 (D) : T gfote sl s= = faudia 21

IPIRE FYF $ IS A, 9 3T e el o A e Sugw 3T 1 T HIfE

(1)

@)

3

4

= (I) 3t (D) 341 ot 2 |
FoA (1) oiT ({1) 21 7Teid 2 )
Fo (1) 9381 2, dfea oM () Terd 2 |

F9A (I) T 2, Al H2A (D) 78 & |
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[Question ID = 2724][Question Description = Q99_SocWork_SHAAN_0521_52_Shift1]

oL B

. 1 [Option ID = 10893]
. 2 [Option ID = 108%4]
. 3 [Option ID = 1089%5]
4 [Option 1D = 10896]

5) Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it is the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience. I use
soul-force. For instance, the Government of the dayv has passed a law which is applicable to
me. I do not hike it. If by using violence. I force the Government to repeal the law. I am

employing what may be termed body-force. If I do not obey the law and accept the penality

for 1ts breach, I use soul-force. It involves sacrifice of self.
IR e Y CIAYE® Te 2R 36 INuR W A fay T uvw o sw g
e faty, =T %3 5 75 O S19FR 00 9291 = U a0 2, 75 gns-Taag ® fawlia 2 | 5.
# 3ot Sy % Ufaget =i B W T € A H S-S T TART Fal F | Ihgnd,
1 TR TF BT TG B GH R O] B 2 SR 9 03 e 2| 9TR B W s w0, §
TR i H e w0 % o faee wwar £ a3 5w e wowmm o g, s odifes aifee saen

qMg-5e1 Fal 1 THhal ¢ | PR § FRE 6 37w F5 9T 3H qIs W1 503 WK %% q 309 319 &

§ e = B WA @ Z | AT SAHICH W b 2 |

What is soul-force?

(A)  Sacnmfice of self

{B) Refusal to go against conseience
{C) Use of violence

(D) Body-force for resistance

Choose the most appropriate answer from the options given below :

1) (A B, (C)and (D)
(2)  (A). (B) and (C) only
(3) {A) and (B) only
4)  A) and (C) only

STCH-oTT ¥ 27

% [y

(A) HATcHIcHT

B)  FaTETT % fa%g IH ¥ TR

(C) TE=m = =

D) =Xy 3g e 5

13 fow o, Brrei § @ mew S I W = A

L @A) ®). (©) 3R (D) (@) === (4), (B) 3R (C)
(3)  FAA (A) 3 (B) @ FEE (A) AR (O)
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[Question ID = 2725][Question Description = Q100_SocWork_SHAAN_0521_52_Shift1]

1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898
3. 3 [Option ID = 10899
4. 4 [Option ID = 10900]

Topic:- GP36_D1_SH1_Set2_A
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1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds)} in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B c D

| Year M F: M F M F M F
2016 4.2 4.7 .3 4.2 5.6 [B.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 .7
2018 10.4 7.9 .7 5.3 5.9 6.4 3.8 J3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 |a.e 69 [7.6 5.4 7.9 [7.6

AIeRBI I LAY ALRIel 2 AR ikl f&v gea &1 3ne € ¢
ofix &t a1 ouferot & 4 ffiea gl (A, B, C, D) 3 5 fafice adl 3 sl vd aiitroiil &t dwa (Jost #) St s 2

(M - s, F - aiférem)

e A B C Ip

| o M F M F M F M F
2016 4.2 4.7 b.3 l.2 e [3.5 [re 7.7
2017 7.7 5.3 be [.3 W44 5.5 [b.6 47
2018 10.4 7.9 5.7 5.3 5.9 |64 [3.8 [3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 |65 6.8
2020 9.5 11.9 8.6 6.9 [7.6 [5.4 [7.9 [7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.
ad 2016 - 2020 <& gieret <ot A 3z 3=pa B J awcrsi &l Jwm @ i 3iae A6 @ L
[Question ID = 25314][Question Description = 52_qSNz_PG_GP36_0Q01]

1. 440

[Option ID = 41256]

2. 445

[Option ID = 41257]

3. 450

[Option ID = 41258]

4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls),

School — A B C D

1 Year M F M F M F M F
2016 4.2 4.7 b.3 .2 5.6 (3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 .5 6.6 W7
2018 10,4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 B6 69 7.6 54 7.9 76
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AIRDT I LAY ALRIel 2 2 ikl v gea &1 3ae € ¢
ofix &t a1 muferot & 4 fifiea ol (A, B, C, D) 3 5 fafice adl 3 aawl vd aiitronil &t dwa (Jost #) St s 2

(M - s, F - aiférem)

e A B C Ip

| o M F M IF M F M F
2016 4,2 4.7 6.3 4.2 5.6 [B.5 [.6 [7.7
2017 7.7 5.3 5.9 [3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 [6.5 6.8
2020 9.5 11.9 |8.6 6.9 [7.6 5.4 [7.9 7.6

Which school has the lowest number of girl students enrolled during 2016-20207

ad 2016 - 2020 @ Siwer Rvw woa A sraiflsa sl & s aaa oxn 3 7
[Question ID = 25315][Question Description = 52_qSNz_PG_GP36_Q02]

1. A

[Option ID = 41260]

2. B

[Option ID = 41261]

35

[Option ID = 41262]

4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows :

prepp
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The given table has the number of boys and girls {in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School —s A B C D

1 Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 [B.5 7.6 [7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 W7
2018 10,4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10,7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 |54 [7.9 [7.6

TICRBT DI AT LRG3 I3 oikl fow gpet @1 sae & ¢
ol €1 =1 anferor & 4 fRifiss =l (A, B, C, D) 3 5 ffira qul 3 aorel vd eiftwoil & s (Fwst ) & o 3

(M - s, F - sanfereemd)

o — A B C Ip

| ad M F M F M F M F
2016 4.2 4.7 .2 .2 56 [B.5 1.6 [7.7
2017 T7 5.3 be [.3 44 5 |6 |47
2018 10.4 7.9 k.7 5.3 5.9 6.4 [3.8 3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 |65 6.8
2020 lo.5 11.9 IB.ﬁ 6.9 [7.6 5.4 [7.9 7.6

Which school has the maximum number of boys enrelled during 2016-2020?
ad 2016 - 2020 o Jiual foon Taye1 A oifesa arernt &1 FHom wafttrs 2 ?
[Question ID = 25316][Question Description = $2_gqSNz_PG_GP36_Q03]

1. A
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[Option ID = 41264]

2. B

[Option ID = 41265]

3. C

[Option ID = 41266]

4. D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

prepp

Your Personal Exams Guide

The given table has the number of boys and girls (in hundreds)} in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

1 Year M F M F M F M F
2016 4.2 4.7 b.3 4.2 5.6 (3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 W7
2018 10,4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 la.e 69 [7.6 5.4 7.9 [7.6

AIeRBI I LAY ARGl 2 A oIkl 6w gea &1 3ae € ¢
ofix £t a1 ouferot & 4 ffiea gl (A, B, C, D) 3 5 fafice adl 3 sl vd aiftroiil &t dwa (Jost d) St o 2

(M - s, F - aiférem)

o — A B c Ip

| af M F M F M F M F
2016 4,2 4.7 6.3 .2 5.6 [B.5 [.6 [7.7
2017 7.7 5.3 5.9 [3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 [5.3 5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 |43 [6.5 6.8
2020 9.5 11.9 Ie.s 6.9 7.6 5.4 [7.9 [7.6

Which school has the minimum percentage increase in total student enrollment (both boys and girls) from 2019 to 20207
fovar wayer 3 2019 & 2020 aw wigl @ oo suakss (arcw i eiftsre Sel) # sgeras gfeera gfy 55 7

[Question ID = 25317][Question Description = 52_qSNz_PG_GP36_Q04]
1. A

[Option ID = 41268]
2. B

[Option 1D = 41269]
3. C

[Option ID = 41270]
4. D

[Option ID = 41271]

5) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls {in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls),

School — A B C D

1 Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 [B.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 W.7
2018 10,4 7.9 5.7 5.3 [5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
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‘ZDZD ‘9.5 ‘1 1.9 |B.6 6.9

7.6 ‘5.4

‘?.9

TIERET DI LAY AERIGI W3 313 oikl fow geet w1 sae € ¢

oik) €t o1 aiferor & 4 fRifies =l (A, B, C, D) 3 b ffira aul 3 acrel vd aiftwoit & s (Fwst #) & = 3

(M - s, F - sanferemd)

ROTT — A B C Ip

| et M F M F M F M F
2016 4.2 4.7 6.3 k.2 |56 [B5 [r6e 7.7
2017 7.7 5.3 e [B.3 W44 |55 6.6 47
2018 10.4 7.9 5.7 5.3 5.9 |64 [.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 Ie.s |ﬁ.9 7.6 5.4 [7.9 [7.6

Which year has the minimum number of girls enrolled during 2016-20197

ad 2016 - 2019 & Siwer fvwr ad siwifdsa arftrasit & siwan sgaan 8 7

[Question ID = 25318][Question Description = 52_qSNz_PG_GP36_Q05]
1. 2016

[Option ID = 41272]
2. 2017

[Option ID = 41273]
3. 2018

[Option ID = 41274]
4. 2019

[Option 1D = 41275]

Topic:- GP36_D1_SH1_Set2 B

prepp
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1) Which among the following is a MOOC platform?
forgmiter3ae A 31 wiet w1 wH 31 3t 3t (Fp) wiewidd & 7

[Question ID = 25324][Question Description = 52_qgSNz_PG_GP36_Q06]

1. Urkund/zzm=

[Option ID = 41296]
2. Jitsi Meet/Brzd sl

[Option 1D = 41297]
3. Coursera/TRR

[Option ID = 41298]
4, Google Meet foprT #dic

[Option ID = 41299]

2) Identify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When somecne in the meeting gives you access you will join it,
Choose the correct answer from the options given below:

aperar #ie w1 sdiver wel @ WAl gor gand ¢

A. ®15 b w3 iz iy Ryers w3

B. sty g sdiver Ryaews w3

C. gs1 5 M ois Raw o3

D. meet.google.com uz snd
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E. s/ ofifRer & o1F amaest wadly 3ar 3, A ama 33 sdiver @i
ol R s1e frweal A A T8 33 o1 aaa Hibe ©

[Question ID = 25325][Question Description =52_qSNz_PG_GP36_Q07]
1. A,B,D,C,E

[Option ID = 41300]
2. D,C, ABE

[Option ID = 41301]
3. E,A,B,CD

[Option ID = 41302]
4. D, A, E, B, C

[Option ID = 41303]

3) Given below are two statements

Statement I: Operant conditioning was discovered by Thorndike.

Statement |l: Classical conditioning was discovered by lvan Pavlov,

In light of the above statements, choose the most appropriate answer from the options given below
ol <1 werer Ru a0 & |

e - | 1 [een g sigiaactiol ol Wi ciclss of & eft

werd - || et sofmpoa B T sams Uaddia o of =i

IUITE DGl I AFKD #, ikl fow a1e fawcdl d 21 w18l sz @1 o Hifem ¢

[Question ID = 25326][Question Description = $2_gqSNz_PG_GP36_Q08]
1. Both Statement | and Statement |l are correct fasem | iz || S 32 &

[Option ID = 41304]
2. Both Statement | and Statement Il are incorrect/wmem | iz || Sigi oot &

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/wem1 | 3t 8 , Foog oeE |l srem 2

[Option ID = 41306]
4, Statement | is incorrect but Statement [l is correct/wem | swwt &, frsg oo | =28t &

[Option ID = 41307]

4) Identify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding

B. Presentation of advance organiser

C. Presentation of study groups

D. Presentation of learning task or material

E. Strengthening cognitive organisation

Choose the correct answer from the options given below:
" wsain AiETeree dise’ @ Rre Rgar @ =& avor usame

A. rgrErRIl SMTEGT T Qg yor

B. usai siistessi w1 Yrarilaun

C. JEerre Bl W1 YFrilanIvn

D. e Rl a1 ApE]l ®f YEariinon

E. s Jie1o6 1 ALrbInIvT

ol 8u a1e Rrpeal 3 A w16l 30w @l o=m ifans

[Question ID = 25327][Question Description = 52_qSNz_PG_GP36_0Q09]
1. A,Band Conly/@am A, Baiz C

[Option 1D = 41308)]
2. B,Cand Donly/s&am B, C afiz D

[Option ID = 41309]
3. B,DandEonly/®=aB, D sz E

[Option 1D = 41310]
4, C,DandEonly/gam C, DA E

[Option ID = 41311]

prepp
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B) Match List ) with List (I

List | |List ]

Human ability per Gardener's theory of .
Skills

Multiple Intelligence

L I. Ability to appreciate and produce rhythm,
A, Linguistic

one, pitch and timbre

B. Logical-mathematical |Il. Ability to handle long chains of reasoning

C. Musical I, Akility to recognise plants and animals

I¥Y. Sensitivity to different functions of
language

D. Maturalist

Choose the correct answer from the options given below:

I -l Y Rl -l @ e e

zreft -l gedt -1l
(e b =g - gfy B Bz S R

|(erter=)
TG TP}

|, =51, mret, dra 3T v B Hasar we AT Irgew

A, smar Fsnsr sl

B0l Dl WAl
B. e - sifirer sieedt 1l e e - gf wrenmail @ Hert &St arry
C. wiofiea e lll. aredi sz it o5t araesr @5 e
D gt V. s o Rifires ot @8 gfes sidcoyliorn

o) i oe et #® 2 238t awz gfem ©

[Question ID = 25328][Question Description = $2_qSNz_PG_GP36_Q10]
1, A-IW,B-I,C-1,D-10

[Option ID = 41312]
2. ALB-1,C-N,D-IV

[Option ID = 41313)
3. A-LB-ILC-IV,D-

[Option ID = 41314]
4, A-N,B-IV,C-1,D-1

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?
‘TR - gragmre SeeiolRaa d 3 fow cola A A&t & 7

[Question ID = 25329][Question Description = 52_qSNz_PG_GP36_0Q11]
1. Subjectivism/Rabrsmoag

[Option ID = 41316]
2. Critical Realism/Z#zirAs aedgas

[Option ID = 41317]
3. Empiricism/sEzmaprrns

[Option 1D = 41318]
4. Objectivism /gzglcearmas

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect,
Statement |l: Sampling error occurs due to the violation of the principle of random sampling,.

In light of the above statements, choose the correct answer from the options given below

offr <1 erer Ru 0 & |

el - | 2 Tsu - | gk aa gkt 2 s/ sraa 9fgr ufyocusn @1 sz @2 Gar aw 8

e - |l | weRew gfitrrm o firgia @1 socias ool © el gftcra g 2kt @

IUITE D6l I AKIKD #, ikl few 216 fawcdl # 1 w8l sz @1 aga difemw ¢

[Question ID = 25330][Question Description = $2_gqSNz_PG_GP36_Q12]

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide
[ 1. Both Statement | and Statement Il are true/=vem@ | 4z |l Sai ary &

[Option ID = 41320]
2. Both Statement | and Statement [l are false/mem | dr || Sl sreea £

[Option ID = 41321]
3. Statement | is true but Statement Il is false/=ew | 30w 8, oo wa || araea

[Option ID = 41322]
4, Statement | is false but Statement Il is true/oum | = 2, freg wem | I 2

[Option ID = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below

oftax €t weer Ru 1w ¥ v Afdrweer (Assertion A) @ wa & iy gaer 351d wior (Reason R) & =a &

siffreperet (A) © Preed o ArAcIasvor aaa arquesrs seaweil # dwa 3

@l (R) | AFa® 3EAsll # RS T @ SuRiesT Rewn sin &

RIS WUl & ek #, ik By froedl # 3 w18t 307 o1 w6 Hifse :

[Question ID = 25331][Question Description =52_qSNz_PG_GP36_Q13]
1. Both A and R are true and R is the correct explanation of Af{A) sz (R) gt 73 £ d= (R), (A) & = oo &

[Option ID = 41324]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} @iz (R) gl ma & o3eg (R), (A) &t 98 =e=n ot 2

[Option ID = 41325]
3. Afs true but R is false/(A) == &, aitper (R) smmew &

[Option ID = 41326]
4. Ais false but R is true/(A) a=m= &, 9fsa (R) arg &

[Option ID = 41327]

9) Which among the following are statistical packages?
A, SPSS

B. SAS

C. ANOVA

D. STATA

E. R

Choose the correct answer from the options given below:
Torraifertiae 3 21 wtat 31 Aifebla G 3 7

A, 5P5S

B. SAS

C. ANOVA

D. STATA

E.R

oflal fou a1v faascal 3 3 El Iz @1 @ I ©

[Question ID = 25332][Question Description = $2_qSNz_PG_GP36_Q14]
1. A,B,Cand Donly/drmr A, B, Cdliz D

[Option ID = 41328]
2. B,C,Dand Eonly/daa B, C, DT E

[Option ID = 41329]
3. A,B,CandEonly/@aa A, B, Calis E

[Option ID = 41330]
4, A,B,DandEonly/dwT A, B, DA E

[Option ID = 41331]

10) Ethnography refers to

geile bl T T9RT S -
[Question ID = 25333][Question Description = 52_qSNz_PG_GP36_0Q15]
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A research design that rules out alternative causal explanations of findings deriving from it/wes giver afirsea St 333 gra Freed! &) §aftas ool - o=
Tl o aftia o &

[Option ID = 41332]
An attribute in terms of which cases do not differ. /ww o1 Rerbt zie 3 o3 3 s ot 2 3

[Option ID = 41333]

A research method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of
particular culture, society or community /v girr filE Sl gereal Pl kisee sizgkl, 20T 21 IHEE oI gulcl T3 © 018 7o ol sald O 321 20 Tidas
A zem d

[Option 1D = 41334)]

A measure that is employed to refer to a concept when no direct measure is available/wr s =t Rt arpmeon w1 ansrr w=re @t @ Pe Bren awn £ s@
D Yrar 0 Igee odf S 2

[Option ID = 41335]

11) Identify the correct sequence for successful communication.

HEeT HYAU @ fere wdl argfapd usarof |
[Question ID = 25334][Question Description = $2_qSNz_PG_GP36_Q16]

F:

Sender — Encode message — Channel — Decode message — Audience — Feedback/Qas — Haw o1 o d80w Tron — Judl — Jdgl o1 REdaw w2 —
gl — Hisds

[Option ID = 41336]

Sender — Encode message — Audience — Channel — Decode message — Feedback/Umw — F39T o1 o Ide T — 4k — Jam — J99 o Rt
el — s

[Option ID = 41337]
Sender — Encode message — Decode message — Channel — Audience — Feedback/Uuew — 3idyl o1 o Zidyiel o0l — JHoyl o Keidoe o —
Tl — 9 — Gisdd

[Option ID = 41338)
Sender — Encode message — Channel — Decode message — Feedback — Audience/imr — sl o1 9 v T —  dor — o9l @1 Kb awer —
Bz — g

[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?

Torraifertiae 3 2t @ter 311 / 3t AQEm @& faw siiferes / ararazofiia aen 3 7

[Question ID = 25335][Question Description = $2_qSNz_PG_GP36_Q17]
1.

Time /==

[Option ID = 41340]
. Perscnality /et

[Option ID = 41341]
. Power/authority /s / g

[Option ID = 41342]
Culture/Hagit
[Option 1D = 41343]

13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

up Fifecn Uil dde © SRl @ ai # Rida &2 7 2 a8 32 @ Jeel @ om ffice @2l & da dda renfla ore & ac d o &l gare
@2 T8 B e ufyeed I IIET 8

[Question ID = 25336][Question Description = $2_qSNz_PG_GP36_Q18]
1,

Interpersonal communication/arfleimr g

[Option ID = 41344]

2. Intrapersonal communication /a-daRpe e

[Option ID = 41345]

3. Mass communication /& S

[Option ID = 41346]

4, Didactic communication/Sudemers Himm

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology' form of communication?

forafeifiad i 3 Wiel A1 JAYWUUT "YoT ereilciiall Yau I 3616 & 7

[Question ID = 25337][Question Description = 52_qSNz_PG_GP36_0Q19]

1. Websites delivered to browser on search/ad awa @ g2 w Reiiae & o daasd

[Option ID = 41348]

2. Websites that are advertised /fi=nfoa £ #f daed

[Option ID = 41349]
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[ 3. Social media sites/ e il mEed

[Option ID = 41350]
4, Websites that are not alive/d daasd @ A =t £

[Option ID = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Quality questions promote deep learning.

Reason R: The quality of questions asked determines a teacher’s level of success with a lesson.

In light of the above statements, choose the correct answer from the options given below

ol ot ot Bu a0 & : v afdrpera (Assertion A) @ u & 3iiz o1 33 orwt (Reason R) S wa 4 &

sfSreerst (A) : sporaanul gest 25at e o 96t 3d 2

oo (R) : g s10 gral Bt aporaar uio & ar | Brerr b Iwam @ I @ Redba oxi 3

TR WUl @ AR #, ik By froodl | 3 w18t 307 o1 w6 Hife :

[Question ID = 25338][Question Description =52_qSNz_PG_GP36_0Q20]
1. Both A and R are true and R is the correct explanation of Af(A) sz (R) gt 7m3 £ d= (R), (A) & =2 o &

[Option ID = 41352)]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} 4@z (R) gl mea & g3egg (R), (A) &t 38 w=e=n ot 2

[Option ID = 41353]
3. Afs true but R is false/(A) wxa &, aiper (R) smma 2

[Option ID = 41354]
4. Ais false but R is true/(A) a5 &, Afea (R) 3w &

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

il fon a1e s 9 3P Fema UT @id Al FHE=n anesit ?
5, 16, 51, 158, ?

[Question ID = 25339][Question Description = $2_qSNz_PG_GP36_Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358]
4, 481

[Option ID = 41359]

17) Given below are two statements

Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by
23%.

Statement Il: In 12 hours, the hour hand and the minute hand coincide 11 times.

In light of the above statements, choose the correct answer from the options given below

ofidl <t werer Ru s & |

were - | @ afe [pedl smera &l ceas iz disE 3 oaer: 10% 3fiz 20% gty &t ocdl & ol sard faqwa # 23 % gy sl
weret - |l 1 12 @i 3 w@ie &1 FgF iz Tere &t 33 11 ar oo 7 Breedt &

IURITE D6l I AR #, ikl fow 21e fawcdl d 21 1l sz @1 o difemw ¢

[Question ID = 25340][Question Description = 52_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement |l are true/orem | Az 1 St T &

[Option ID = 41360]
2. Both Statement | and Statement [l are false /e | & 1| Sl spwer &

[Option ID = 41361]
3. Statement | is true but Statement Il is false/mew | 77 2, Frog @ud | oera 2

[Option 1D = 41362)
4, Statement | is false but Statement 1l is true/wem | spwa &, Fosg wem || aa &

[Option ID = 41363]
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18) Which of the following statements are correct?

A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25.

B. The HCF of 108, 288 and 360 is 18.

C. The least number which is exactly divisible by each one of the given numbers is called their LCM.

Choose the correct answer from the options given below:
frrafolioa wust u far @3 :

A. 1 guiicst @1 sperma 500 2 iz oot 3k 5 & Y 359t A v w25 2

B. 108, 288 sfiz 360 w1 Fzawn wammds 18 3

C. &t s iz d 3 grdw gr1 goka: Renfeg I3 518 iz 3w agas Jamacd oeord 3
ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 25341][Question Description =52_qSNz_PG_GP36_0Q23]
1. Aand B only/@aa Az B

[Option 1D = 41364])
2. Aand C only/amr A diz C

[Option ID = 41365]
3. BandConly/sam B = C

[Option ID = 41366)
4, Conly/awe C

[Option ID = 41367]

19) The average of first 100 positive integers is
uzgcl 100 emrcas goiiat o e 2 -

[Question ID = 25342][Question Description = $2_qSNz_PG_GP36_Q24]
1. B0

[Option ID = 41368]
2. 51.5

[Option ID = 41369]
3. 50.5

[Option ID = 41370]
4. 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?
Aareil 3 Road gftrgra & wall soral &t o 20 % & gy ot Brogerdt ws -4 7

[Question ID = 25343][Question Description = 52_qSNz_PG_GP36_Q25]
1. 20%

[Option ID = 41372]

2. 21%%

[Option ID = 41373)

2
3. 485 9
183 .

[Option ID = 41374]

4. 16%%

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A, It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity

Choose the correct answer from the options given below:

HIEeT 1 e a5 Aol A Rt 3 A wier A wem A& 7

prepp
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A. 2z PrFAcEAT Qo 1 T 8ia 3

B. @& MEHGIEHT Gop1T Wl o B 3

C. ug =srivriz eite 3 ifdaa ol @ 2

D. 531 aww a1 39Ia & 34 3 aeliapa Rar s &

E. s3rd firwpd anféper soavwrpmr & mer anar arri 3 @8l rpoa &
ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 25344][Question Description =52_qSNz_PG_GP36_0Q26]
1. A, Cand D only/ameg A, Ca= D

[Option ID = 41376]
2. A,DandEonly/sam A, Dafis E

[Option ID = 41377]
3. B,DandEonly/®=a B, D sz E

[Option ID = 41378]
4, B,CandEonly/saar B, C s E

[Option ID = 41379]

22) Match List | with List Il

List | List Il
In a Square of Opposition Resultant
A, If "Some girls are shy' is True I, 'E" and 'I' propesitions are Undetermined
B. If "All men are Tall' is False Il. 'A’ and 'Q" are Undetermined
C. If 'No crows are white' is True lil. 'E’ praposition is False; 'I' propasition is True
D. If some flowers are not fragrant® is FalsellV, A’ proposition is False; "0° proposition is True

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

eyt -1 |

(rrarril & fadrel aaedst & ) (afma)

A, =17 "y orstioen ordlicll ¥ it & l. 'E" 37 'I' ¥ vvrer aifodnmT &

B. a2 'mfigra s & SR 3 I 'A' sfiz 'O sifedaEa B

C. =R ‘= o ads =8 §F =8 & . 'E" redowr=s #ienT & ' oo widt &
D. afd ‘aze gea Fgelsem sl § wem § IV. A’ srefarers swor & 'O" frafardrer gl B

ot i o et & 2 =5t awz g ©

[Question ID = 25345][Question Description = $2_gqSNz_PG_GP36_Q27]
O [P S

[Option ID = 41380]
2. A-NLLB-IV,C-1,D-1I

[Option ID = 41381]
3. A-IV,B-1,C-1,D-1

[Option ID = 41382]
4. A-1,B-1,C-1V,D-1I

[Option ID = 41383]

23) Identify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
offal fow ore oo’ A wla S & 7

it uIe STIeTaR T e &

DI Yollbiel TT] SIa 131 &

gHfie, o Yool ureng sere wdf &

[Question ID = 25346][Question Description = 52_qSNz_PG_GP36_0Q28]
1. Fallacy of Illicit Minor/ =g - as - "

[Option ID = 41384]
2. Fallacy of Illicit Major/aE=ma - 3w - g

[Option ID = 41385]
3. Fallacy of Four terms/=gwag - S

[Option ID = 41386]
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| 4. Existential fallacy/afirmaass 3w
[Option ID = 41387]

24) When an unperceived fact is supposed in order to resolve an apparent contradiction in the presented phenomenon, which one of the following

pramanas is emploved according to Advaitins?
o Rt g aea & RRISDIE T 38 T R Eeell sogater a2 61 sapiee Ko o 3, aa a8l & o P 8 3 Res g 61 50 Reen soen 3 7

[Question ID = 25347][Question Description = 52_qSNz_PG_GP36_Q29]
1. Pratvaksa/q=isi

[Option ID = 41388]
2. Anumara/yeme

[Option ID = 41389]
3. Arthapatti/fssinfy

[Option 1D = 41390]
4. Anupalabdhi/sguetses

[Option 1D = 41391]

25) Given below are two statements

Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement |l: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity,
In light of the above statements, choose the correct answer from the options given below

ofil <t werer Ru s & |

werel - | 1 agpera Brgia & gitarca 3 SeniRrest o 3294 gan (FEl se1) grg &a &

werd - || sigrret Bigia @ gitrarcer # oRuRRp! o1 3g9e daa iz daa diumise [i?Eieaar o1 Jaenad ool &

IWYTe Dol @ Alcla 3, s 6w s1e faowcul 3 3 w1l 3az DI o6 Difare @

[Question ID = 25348][Question Description = 52_qgSNz_PG_GP36_Q30]
1. Both Statement | and Statement |l are true/orem | Az 1 =1 @ &

[Option ID = 41392]
2. Both Statement | and Statement [l are false /e | & 1| Sl apwer &

[Option ID = 41393]
3. Statement | is true but Statement Il is false/mem | 37 2, Frog @ua |l oera 2

[Option 1D = 41394)]
4, Statement | is false but Statement 1l is true/wem | spwa 2, Fosg wem | s &

[Option ID = 41395]

26) A Network Interface Card (NIC) contains
olcad S H BIs (Uol g 1) I S 8 -

[Question ID = 25349][Question Description = 52_qSNz_PG_GP36_0Q31]
1. Domain address/s9m e3a

[Option ID = 41396]
2. |P address/amdt vz

[Option 1D = 41397]
3. MAC address/mm v 3 (d5) w25

[Option ID = 41398]
4. Port address/uid w2a

[Option ID = 41399]

27) The number of bits in IPv6 addressing are:
IPvé w3f3ier # Roaot kg i 8 7

[Question ID = 25350][Question Description = 52_qSNz_PG_GP36_0Q32]
1. 32 bits/32 R

[Option 1D = 41400]
2. 64 bits/64 fica

[Option ID = 41401]
3. 128 bits/128 ficz

[Option ID = 41402]
4. 256 bits/256 R

[Option ID = 41403]
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28) Given below are two statements regarding Wireless Access Points (WAPs).

Statement I: WAPs are connected into the wired network at fixed locations.

Statement |l: The WAP receives and transmits data between the two wired LANs.

In light of the above statements, choose the correct answer from the options given below
AR T WReH (Seog ¢ ul) & e 3 ol ol el ku s § &

weel - | 1 seoy v ol Biedfya Femetl v ar Yo oo A 53 891 &

werol - |l @ secg v Ul 6t T - Yvb v © vdl (cllod ORI olcaks) @ i 3T gid iz Yfte @ &
IRITe el @ el A, ofla fon sre Rrpeal 3 A w18 s ©1 o=@ $ifm ©

[Question ID = 25351][Question Description =52_qSNz_PG_GP36_Q33]

1. Both Statement | and Statement || are true//oem | 3z || S&t @0 &

[Option 1D = 41404)]
2. Both Statement | and Statement [l are false/oem | &7 || S om0 &

[Option ID = 41405]
3. Statement [ is true but Statement Il is false/mvmr | T 2, g e | s 2 |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/=em= | s &, fveg e || g 8

[Option ID = 41407]

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:
frdfites @& ank 3 ol weer Ry s & :

A, a1iE 3o Oadew o) faafe owar

B. 3 Rwora = affla oot & fére dazor gonett & szt o 2
C. ue fafdme Tawgez @t 3T =T 8

D. 3 3ueT 17 - Haa gonferai # off fosan on oo 8

oitar faw a1 faascal 3 3t 7él one @1 aaa B @

[Question ID = 25352][Question Description = 52_qSNz_PG_GP36_Q34]
1. A,Band Conly/gmm A, Baiz C

[Option ID = 41408]
2. Band D only/@aa B stz O

[Option 1D = 41409]
3. Cand Donlyfuemr C diz D

[Option ID = 41410]
4, Aand Donly/saam Ad= D

[Option ID = 41411]

30) Mmatch List | with List Il

List | ist Il

Devices xample

A. Input devices |, Radio frequency identification readers
B. Direct data entryll. DVD

C. Output devices [ll. Joysticks

D. Data Backup V. Speakers

Choose the correct answer from the options given below:

I -l Y Rl -l 3@ e e

et - it -l

(f=arsi=) (FE1E20T)

A, forrelt Ffpet (sage Rasa=) |, 3= iriht sk Do s
B, sm¥xr 3 ol I, & & &

C. Bsfa gfiei (snsoge Ragis) Il. sitafier

D. et #aw - oy IV, Fefierss
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oitd 2w o Rreredl # 3 w4t ooz gm @

[Question ID = 25353][Question Description = $2_gqSNz_PG_GP36_Q35]
. A-LB-ULC-1,D-1I¥

[Option ID = 41412]
2. ALB-1,C-1,D-IV

[Option 1D = 41413]
e T | R I o 7

[Option ID = 41414]
4, A-I,B-1,C-1,D-1I

[Option ID = 41415]

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The
plant is said to be efficient, when BOD:

arRIkbRED sifazdism s (denst) safdre s/ et siRiq © orl Brvage @1 o gea Joaw Rt szg o fa 3@ @ s & 5|
iy -

[Question ID = 25354][Question Description = $2_qSNz_PG_GP36_Q36]
1. Increases/@wed &

[Option ID = 41416]
2. Decreases/uedt &

[Option ID = 41417]
3. Remains unchanged /aaffa 2= 2

[Option ID = 41418]
4. Increases for first 36 hours/usct 36 =71 & aeddt 2

[Option ID = 41419]

32) Over the past 100 years, the estimated rise of global sea level is by 10 to 25 c¢ms or more. This is attributed to which of
the following?

A. Thermal contraction of ocean water

B. Melting of glaciers and small ice caps

C. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:
et 100 adl 3 fara # a1gg Tz A 10 3 25 A0t = it &I gl Siol &1 Ao & 331 BRI & -
A, FBTHIRTIRI Sict @7 i - FiageroT

B. fawmmwi siiz org Rafdnrd o fmemon

C. sfiordivs &t a6 &I gz &1 T el

D. Fereil sienisvn 3 ulyada

ol 12w a1u taascal 3 3 7l Iz @1 @ DI ©

[Question ID = 25355][Question Description = $2_qSNz_PG_GP36_Q37]
1. Band C only/s#ae B 4z C

[Option ID = 41420]
2. A,Band Conly/@am A, B iz C

[Option ID = 41421]
3. B,Cand Donly/sam B, C 3z D

[Option ID = 41422]
4, A, Cand D only/mwa A, CE= D

[Option ID = 41423]

33) The main concept behind solar ponds to store the solar energy is
Fiz wal @ oo & e w@oe diga & A3 gea e § -
[Question ID = 25356][Question Description = 52_qSNz_PG_GP36_Q38]

1. Presence of sand in the pond/awme & Ty an w=r SE0

[Option ID = 41424]
2. Fixed salt gradient from surface to bottom in the pond/aena ¥ Soz 3 A o oram & fafa a5l @61 o=y s

[Option ID = 41425]
3. Uniform salinity of pond/momm & o 3a= wevrn

[Option ID = 41426]
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| 4. Presence of solar cells in the pond/arene 3 2o 3o w1 war suwr

[Option ID = 41427]

34) Disaster Management Act came into existence in
AaEI Yaera sMffioria fooar ad sifzferatita fovan srm ?

[Question ID = 25357][Question Description = $2_qSNz_PG_GP36_Q39]
1. 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option ID = 41430]
4, 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

€. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

sterrarferest 45 ot snafdre @ BrefiRan acat o sad oo s & gt o 3 =9
A. P ik TEas

B. sitswr

C. &g @ ol 51

D. g 3z 3/

E. asg
skl 2w =g fnpoal 3 3 718 307 @1 o @ik

[Question ID = 25358][Question Description =52_qSNz_PG_GP36_0Q40]
1. E,C,D, A, B

[Option ID = 41432]
2. C,E,D,B, A

[Option ID = 41433]
3. E,C,A D, B

[Option ID = 41434]
4. E,C,D, B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
W 3 cAraARes Bigh uigeamdl d oida - Aeiicel B o DIl 3 -

[Question ID = 25359][Question Description = $2_qSNz_PG_GP36_Q41]
1. High fee structure/aTa gee v

[Option ID = 41436]
2. Wrong perception of vecational education among students and parents/ sl sfie afirret 3 =R Ben o a3 3 = aeon

[Option 1D = 41437]
3. Lack of adequate infrastructure to impart Yocational education/=manRir Biar yora T @ ooy Wi s=iser 1 i

[Option ID = 41438]
4, Unavailability of large number of vocational courses/==t siz=r & mrenlrr wrrrmpE! St aguetrn

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university
education for the maintenance of standards of teaching examination and research?

77 sh 2t sifrorma ol KesifciRaa 3 3 @ia A e Brror adian siiz eiier & wem Tone T@6l < kv kralkenos fben @ dad sile seeager 3
Feftra 3 ?

[Question ID = 25360][Question Description = $2_qSNz_PG_GP36_Q42]
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[ 1. Section 28/u= - 28

[Option ID = 41440]
2. Section 25/ - 25

[Option ID = 41441]
3. Section 14/ um - 14

[Option ID = 41442]
4. Section 12/ - 12

[Option ID = 41443]

38) What per cent of the children's brain development occurs prior to é years?
6 wd Bt s A uEd wwl & wfass o Reast gitrer R 8 smar 3 7

[Question ID = 25361][Question Description = 52_qSNz_PG_GP36_0Q43]
1. 25 %

[Option ID = 41444]
2. 45 %

[Option ID = 41445]
3, 65%

[Option ID = 41446]
4. 85%

[Option ID = 41447)

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling,

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self,

In light of the above statements, choose the most appropriate answer from the options given below

ofiY 21 e Rw sm | wop aifdroera (Assertion A) @ =u 3 sz gzrer sa® ©rer (Reason R) S wa #

atfdreperet (A) ; yrelier s 3t fdren o1 329 I SAiel GIH el ol on dfdes o] o Tl Rign 3 u¥ T3 awia 3 Sfao & fére dwne owon o
@1v1 (R) : yreflor st fargn o gol sieargrer aitz arwd - Jfes Uz o e

IJRID ®erell > Aclrs 3, iR Ry fawedt # 3 78l 5mz &1 aww Hifss

[Question ID = 25362][Question Description = $2_qSNz_PG_GP36_Q44]
1. Both A and R are correct and R is the correct explanation of Af(A) sfiz (R) gl =2t £ afiz (R), (A) & =t o= &

[Option ID = 41448]
2. Both A and R are correct but R is NOT the correct explanation of Af{A) 3z (R) o= = & e (R), (A) o =8 oo ot &

[Option ID = 41449]
3. Ajis correct but R is not correct/{A) a8 & wiwg (R) o 78 2

[Option ID = 41450]
4, Ais not correct but R is correct/(A) =t =if 2 womg (R) =2t 8

[Option ID = 41451]

40) Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement |l: Values needed for sustainable development cannot be taught in a school setting.

In light of the above statements, choose the most appropriate answer from the options given below

ol €1 e Ru s & ¢

werel - | @ Feea - Torpr @ o o i sreanes] @ < Fhrifsm st ik g smaear 3k &
el - || @ e Repr @ R sravers e Fapedl arraevn # ol Rrard o seod &

RIS WUl @ ek #, ik By froedl | 3 w18t 307 ©1 e Hife :

[Question ID = 25363][Question Description = 52_qSNz_PG_GP36_0Q45]
1. Both Statement | and Statement [l are correct/mem | 4 || Sl =t &

[Option ID = 41452]
2. Both Statement | and Statement [l are incorrect/mwam | iz 1] 23 s &

[Option ID = 41453]
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| 3. Statement | is correct but Statement Il is incorrect/wem | 3 3, fiveg oo |l aem 2

[Option ID = 41454]
4, Statement | is incorrect but Statement [l is correct/wem | 7o 2, Fveg wem || =28t 8

[Option ID = 41455]

Topic:- GP36_D1_SH1_Setz_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr,
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

fratalia == @) tamgde ug iz ol B s1e ga ot 3w & ¢

ATFU &4 P Ul 3T g3 3 Iocl @ YEIA D w4 3 JARS silael S caRen ol o YurH ol & 41 o @ &6 B 2k i[5 gEai as
et goenr § B 3@ & a5 s forn ste B wopen o 3ol ait gra weer w garA wrarn 8, aftser gy amwn s § B g Y a9l daar §
fepalt 29ps Rl ©F T A g oa B divaen 2 sl aca oRl o A Jff 39 g U2 e o e ol Rear sen oo daesa &
sirrasver w1 AEigeler vadt sl WAl B a9 9% gosl Joan § s sad ara afl [fdrse simsasvor A B S vad am § sl waref o1 figia
? Aiiibel #gIWI oI M W wolRI Rl oo 3t 3t siuel @A &6l ufspouon B3 ween & e, a1 Yimol, =0 g Bl oo a1 suee wu A
o3Y arenfiify a1 siran 3 ? s raoft 3en & uf¥ecuon 3 o B, d gfdmoer fiod Ao 2, & gypd @ el @ Oar D3 oRIk 8, AT
e ol fdrgrr o ¥ Bradht & Bif aeh ¥ 7 e, g, simen, sursia, wven, afy, Rigurar fBnats v A o aftd § Bod Ofya s
Pl &R Tl & v 3593l I Y Dol &l AEs yghe &l Awdl  dikbal 329a @1 @1 oit ®ere a1 321 YA ol &I ggivril @1 @18 avfa
afyoreft wrasr &t carwa w8 ©F Aoar 8 as n2a 5 noca avasdger @3 E S s @ o1 wga 3 B sead snunedt - arenazor aen dae @
d13 3 Jorcbl anabyr grivrn Jord kienz, siraen 3z Remn 3 forabo ara il § 3ceem @ e ale araficem ot #ma argReosn @ i d9er
Aqgragl AT rgferT Elol & ISIRT Yeargl 301 avoelel ekl 8 ol iforvfa siiz fawerar o1 aar ol adren iz (Al z83f 3t Yo «afip dmnz 3 soell
FHHIUIAL W ATY 3T I & 513 R wep acon =0 3 3gan 8), off aalf oif of as ot @ar aian [7r s alRvra @ gaa «il #is @ e o i el
33 26 Sip A T Ad e § S &I v dien o

What is the main issue when man pursues hedonistic goals?
S HGIRI PG 389701 D1 YIH Sl Bl YR ol § ad oA el o1 B 3 7

[Question ID = 25364][Question Description = §2_gSNz_PG_GP36_Q46]
1. Seeking pleasure self/za2 3= arEen

[Option ID = 41456]
2. Single course of choice/mwe R

[Option ID = 41457]
3. Multiple preferences/ soiar qrefiivsams

[Option ID = 41458]
4, One's own conscience/ wifts o =& T HELTIn

[Option ID = 41459]

2) Read the given passage and answer the guestion that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has., The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends, But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.
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ferraferfiae sterion o saragde ue iz ofld v s19 gea o1 saz o @

MY & YE U iz @ 3 o900 @ YAA D w9 # HAD sitde O el @wiel O YarAa oxl & ana ofy Az o 2 disY fr gaardt ws
et g § B s & as wer forn ste B wopen o1 3ol it gra wser w garA arar 8, aftser gy awmwn s B B g Yan a4l daar § /B
Rosft e ©orl @t osat A = Broa &t siwmen 2 saf soa oR e A Jd 59 god a2 aE oo e oidl Roar srn & o #aeaesa
w1 o1 ARiGelar sad! e oI 2 a9 A8 Qo Iod @ s sud ura adl fafdne aimasaor B3 E S aud a2 anlfes ware! @1 g
? dftvw g sred At @ o Rl v afld 3 sraot RB3a & afyweaen @39 wwar B wEen, ar giteon, @ garra R oo W spas A A
foraY ameaf3ify ool @ar & ? Aagsa e gren &l ufrecaal &3 o 8, a gives! el Alrd €, d Qe © g6l I Udl D3 oPld 2, a1
e w1 sftrgrr e 3 Brerdbt & By et ¥ 7w, oom, s, sansia, weson, afy, Biouren Brats wa A oo afid § Bera 9fva dos
cilel BRI w3 & %ol I8¢l @l YId @l Bl Aesl ygitr a1 Jwdl & aikbel 3599 @1 w1 o1l el a1 331 YA @l &1 ygivTrdl © @ avls
afyurmaft wraerz Bl cars oiEl @ AGAl 8 A8 2 15 AelSI dvdlcddv] S 8 St T3 ard @l g 2 &6 sord st - ararazr qaen Jar &
dar3 3 Jorcbl anviyr yRiern Jord kenz, siraen 3z R d forabo arva andl § 3oeem & e afle araficem oz #mma aeiResn @ i dker
gl A agefer o @ aarI gl A1z el e & il siforvla siiz fansorar @1 umr ot aoien Az (ale &6 A grdo cafip dene § saell
Fidbtolar @ Ty 35 351 8 SiA By oo aean ool 3 vean B), off gaild ot ot @ ol war gl Ay aael sif¥ava @& guw & me D yenar IS ot Ao
I 36 St 3 I o3l W § i Wl v dien I

A man's course of action is guided by
#tera g Roards g aisieidfa gkl 8 2

[Question ID = 25365][Question Description = 52_qSNz_PG_GP36_Q47]
1. Collective action/Imwyfs Rizn gt

[Option 1D = 41460)
2. Critical evaluation of choices/Rrordl o spitsirery friwa gR1

[Option 1D = 41461]
3. Pursuit of self-interest/zaaf g

[Option 1D = 41462)
4, The thought of social welfare /sratirr wramr o Brnz gor

[Option ID = 41463]

3) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forraferfian srerior @) taregdes U aftz offdr 2w s1e yrar o1 3z difom :

3ET o9 FHF 4Rt 37 g3 A TU0 D YRR D w4 3 AARRED sikae & carear wwel o g o3 £ g ofig as o 2 89 B mad! G
s Yol & for 91t &1 w1e airer forn =e 96 Aopea 3o1 3297l @l Y @ol ol YA BH &, clfibel U RN 6 & b ag B o= diaen & i
ot s orl W wrd A wE PBros B Avraon 3 srafds sea orl ol A afl A ga ar ag ow RBar af @A sen ¥ aer moea @
Mawszo1 o1 AEicola sad! caE= oI € aF A8 Gl 3o ¢ Kb 3ud ura adl faldre siaasaor &3 E A sud ua & anfdfar Faret @t fagia
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The thoughts of men are decided by
worsel a5 Frene Foad g Bedba )i 8 7
[Question ID = 25366][Question Description = 52_qSNz_PG_GP36_0Q48]

1. Their envirenment/ o TR Z5T

[Option ID = 41464]
2. Their behaviour/ e =mer g

[Option ID = 41465]
3. Societal tendencies/amniSre ggitel =T
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[Option ID = 41466]
4. Their inner perception of the world/z=n o ar¥ 3 3ol aiaf¥e aoor g

[Option ID = 41467]

4) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results, The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

foramteiian amerion @1 taegde ug iz ol 2w s1re yea ot 3az dfom ¢
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If the connect between reality and human response is direct, it will result in
afe arrafyosar i mea roifayar @ dka dder graegr sl 3, a st afyors Sem -

[Question ID = 25367][Question Description = 52_qSNz_PG_GP36_0Q49]
1. Self-realisation/ ety

[Option ID = 41468]

2. Acquistion of prestige /qffmar ©1 surta
[Option ID = 41469]

3. Successful actions/sws fm

[Option ID = 41470]
4. Useful theorisation/3mwi=i Brgiiaen

[Option ID = 41471]

5) Read the given passage and answer the gquestion that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched, Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr,
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.
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The gist of the passage is that the human behaviour is dictated by
SIENDI I AR 4% & Ko Mo wrerR BiEionT s 2 -

[Question ID = 25368][Question Description =52_qSNz_PG_GP36_Q50]
1. The harsh realities of the world /s=m= 6t ook mealremai g

[Option ID = 41472]
2. Choices for pleasure/g= & st grr

[Option ID = 41473]
3. Seeking smugness in a false world/feer Serm & Fdbolar s g

[Option ID = 41474]
4. Emotional vagueness/sardes Jnyewl S0

[Option ID = 41475]




